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1. The Background colour of warning signs in basic category is 
Ga\›UøP SÔ±miß ¤ß¦»zvß Áºn®  

(A) Yellow (B) Blue 

 ©g\Ò  }»® 

(C) Red (D) White 
 ]Á¨¦  öÁÒøÍ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

2. Respiratory type PPE is used to 
_Áõ]zu¾US›¯ PPE BÚx —————— £¯ß£kQÓx. 

(A) To protecting the head  
 uø»ø¯ £õxPõUP  

(B) To protecting the face  
 •Pzøu £õxPõUP 

(C) To protection against injury from outside the body   
 Eh¼ß öÁÎ¦Ó¨£SvPÎÀ HØ£hUTi¯ Põ¯[PÎ¼¸¢x £õxPõUP

(D) To protection from harm due to inhalation of contaminated air
 A_zu•ÒÍ PõØøÓ _Áõ]¨£uõÀ HØ£k® xß£zv¼¸¢x £õxPõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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3. The first aid to be given to stop the bleeding of the victim is to  
£õvUP¨£mhÁ›ß Põ¯zvÀ Cμzu P]øÁ {Özu öPõkUP¨£h ÷Ási¯ 
•u¾uÂ  

(A) Applying ointment 
 PÎ®¦ ÷£õh ÷Ásk® 

(B) Wash the wound in water  
 Põ¯zøu }›À PÊÁ ÷Ásk® 

(C) Dressing 
 Pmk ÷£õh ÷Ásk® 

(D) Applying pressure over the injured part 
 Põ¯®£mh £Sv°ß «x AÊzv ¤iUP ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

4. Tee Joint is used in 
‘T’ Cøn¨¦ £¯ß£kzu¨£kÁx 

(A) there is no mechanical stress required 
 AÊzu Âø\ ÷uøÁ°À»õu Ch® 

(B) appreciable electrical conductivity required 
 ÷£õx©õÚ AÍÄ ªß Phzx® vÓß ©ØÖ® ö|ÖUP©õÚ Cøn¨¦ 

÷uøÁ¨£k® Ch® 

(C) tapped for service connection required 
 £Qº©õÚ PhzvPÐhß Cøn¨¦ ö\´²® Ch® 

(D) considerable tensile strength required  
 ÷£õx©õÚ AÍÄ CÊÂø\ ÷uøÁ¨£k® Ch® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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5. The special solder Ker-al-lite is related with 
]Ó¨¦ £ØÓøÁ¨£õÚ öPº&AÀ&ø»m GuÝhß öuõhº¦øh¯x 

(A) Temperature controlled soldering 
 öÁ¨£{ø»ø¯ Pmk¨£kzx® \õÀh›[ 

(B) Soldering with a soldering gun  
 £ØÓøÁUS® x¨£õUQ ‰»® £ØÓøÁzuÀ 

(C) Dip soldering 
 i¨ \õÀh›[ 

(D) Aluminium soldering 
 A¾©Û¯ \õÀh›[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

6. The temperature of Electrician’s solder is 
ªß £o¯õÍº \õÀh›ß öÁ¨£{ø» 

(A) 155ºC (B) 165ºC 

(C) 175ºC (D) 185ºC 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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7. The reason of scarferd joint is used in large single conductor for 
ì÷Pº£m Cøn¨¦ JØøÓ ö£›¯ PhzvPÎÀ £¯ß£kzu Põμn® 

(A) Appreciable electrical conductivity 
 ÷£õx©õÚ AÍÄ ªßPhzx® vÓß 

(B) Tapped for service connection 
 ÷\øÁ Cøn¨¦PÐUS ÷h¨¤[ GkUP 

(C) Considerable tensile strength 
 ÷£õx©õÚ AÍÄ CÊÂø\ 

(D) Good appearance and compactness 
 |À» ÷uõØÓ® ©ØÖ® ö|¸UP©õÚ Cøn¨¤ØPõP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

8. Arrange the following in chronological order 
\›¯õÚ Âøh ÁøPø¯ Á›ø\£kzxP 
What is the correct sequence of actions to take when preparing a
soldering iron for new soldering job? 
J¸ ¦v¯ \õ¼h›[ ÷Áø»US J¸ \õ¼h›[ A¯øÚ u¯õº ö\´²® ÷£õx 
GkUP ÷Ási¯ ö\¯ÀPÎß \›¯õÚ Á›ø\ GßÚ? 

(1) Apply solder to the tip 
 •øÚ°À \õ¼høμ¨ £¯ß£kzx[PÒ 
(2) Turn on the soldering iron and Let it heatup 
 \õ¼h›[ A¯øÚ C¯UQ `hõUPÄ® 
(3) Wipe the tip with a damp sponge 
 ~Ûø¯ Dμ©õÚ ì£õg]À xøhUPÄ® 
(4) Clear the tip of any old solder and residue  
 ~Û°À C¸¢u £øÇ¯ Ga\® ©ØÖ® \õ¼høμ _zu® ö\´¯Ä® 
(5) Check the tip for proper tinning 
 •øÚø¯ \›¯õP ißÛ[ ö\´¯Ä® 

(A) (2), (3), (4), (1), (5) (B) (2), (4), (3), (5), (1) 

(C) (2), (4), (3), (1), (5) (D) (2), (1), (5), (4), (3) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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9. The value of electrical conductivity of copper  
Põ¨£›ß ªß Phzx® ©v¨¦ 

(A) 35 mho/m (B) 56 mho/m 

(C) 61 mho/m (D) 28 mho/m 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

10. Match the following  : 
ö£õ¸zxP : 
(a) Battery 1. Provides the path for electric current to 

flow 
 ªß P»ß  ªß÷Úõmh £õøuø¯ ÁÇ[SQÓx 
(b) Lamp 2. Converts electrical energy to light 

energy  
 ªß ÂÍUS  ªßÚõØÓõø» öÁÎa\ BØÓ»õP ©õØÖQÓx

(c) Current 3. Supplies electrical energy to circuit  
 ªß÷Úõmh®  ªßÚõØÓø» ªß_ØÖUS ÁÇ[SQÓx 
(d) Conductor 4. Flow of free electron through the circuit 
 Phzv  G»UiμõßPÎß Kmh® 

 (a) (b) (c) (d) 
(A) 3 2 4 1     
(B) 4 2 3 1     
(C) 1 2 3 4    
(D) 4 3 2 1    
(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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11. How is the total resistance in a series circuit calculated? 
öuõhº Cøn¨¤À EÒÍ ö©õzu ªßuøhø¯ PnUQkÁx G¨£i? 

(A) By taking the reciprocal of the sum of the individual resistance 
 JÆöÁõ¸ ªßuøhUS uø»RÌ PnUQmk Tmk öuõøP ö£ÖÁuß 

‰»® 

(B) By multiplying all individual resistance  
 AøÚzx ªßuøh ©v¨¦PøÍ²® ö£¸USÁuß ‰»® 

(C) By adding the individual resistance together 
 AøÚzx ªßuøh ©v¨¦PøÍ²® Tmi ö£Ö® ©v¨¤ß ‰»® 

(D) By averaging the resistances 
 AøÚzx ªßuøhUS® \μõ\› PnUQkÁuß ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

12. How can potential energy be demonstrated in a practical example? 
J¸ |øh•øÓ GkzxUPõmiÀ ö£õmhß]¯À BØÓø» GÆÁõÖ {¸¤UP 
•i²®? 

(A) By observing a moving car 
 |P¸ Põøμ PÁÛ¨£uß ‰»® 

(B) By noting a spring that is compressed or a loaded gun  
 _¸UP¨£mh ì¨¤›[ AÀ»x ÷»õhm x¨£õUQø¯ SÔ¨£uß ‰»® 

(C) By measuring the speed of raindrop  
 ©øÇzxÎ°ß ÷ÁPzøu AÍÂkÁuß ‰»® 

(D) By calculating the work done in lifting box 
 J¸ ö£miø¯ yUSÁuß ‰»® ö\´¯¨£mh ÷Áø»ø¯ PnUQkuÀ

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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13. If the resistance in a circuit is halved and voltage remain constant
what happens to current?  
J¸ ªß_ØÔÀ EÒÍ ªßuøh £õv¯õQ ªßÚÊzu® ©õÓõ©À C¸¢uõÀ, 
ªß÷Úõmh® 

(A) The current is halved 
 £õv¯õP SøÓ²® 

(B) The current remains the same  
 A¨£i÷¯ C¸US® 

(C) The current is doubled 
 Cμmi¨£õS® 

(D) The current is quadrupled 
 |õßS ©h[PõS® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

14. If a circuit with a resistance of 8 ohms has a current of 0.5 ampheres
what is the power consumed by the circuit? 
8 ohm  ªßuøh öPõsh J¸ ªß _ØÖ 0.5 B®¤¯º ªß÷ÚõmhzøuU 
öPõsi¸¢uõÀ ªß_ØÔÀ £¯ß£kzu¨£k® vÓß GÆÁÍÄ 

(A) 2 watts (B) 4 watts 

 2 Áõm  4 Áõm 

(C) 8 watts (D) 16 watts 
 8 Áõm  16 Áõm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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15. The metalic sheath of UG cable is usually made of  
ö£õxÁõP ³â ÷P¤Îß E÷»õP EøÓPÒ GuÚõÀ ö\´¯¨£kQÓx? 

(A) Lead or lead alloy (B) Impregnated paper 

 ö»m AÀ»x ö»m E÷»õP[PÒ  ö\ÔÅmh¨£mh PõQu® 

(C) Rubber mineral compound (D) Varnished cambric 
 μ¨£º PÛ© P»øÁ  ÁõºÛèk ÷P®¤›U 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

16. How does the construction of an U.G cable differ from that of an over
head cable? 
{»zui ÷P¤Îß Aø©¨¦ ÷©À{ø» ÷P¤Î¼¸¢x GÆÁõÖ 
÷ÁÖ£kQÓx? 

(A) Under ground cables have no insulation or protective cover  
 ³â ÷P¤ÒPÐUS Põ¨¦ AÀ»x £õxPõ¨¦ EøÓ CÀø» 

(B) U.G. cables use a more robust protective cover  
 ³.â ÷P¤ÒPÐUS Á¾ÁõÚ £õxPõ¨¦ EøÓ EÒÍx 

(C) Over head cables use more insulation than U.G cable 
 ³.â ÷P¤ÒPøÍ Âh ÷©À{ø» ÷P¤ÒPÒ AvP Cß_÷»\øÚ 

öPõskÒÍx 

(D) U.G cable are only used for low voltage application 
 ³.â ÷P¤ÒPÒ SøÓ¢u ªßÚÊzu £¯ß£õkPÐUS ©mk÷© 

£¯ß£kzu£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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17. The test conducted to locate the faults in U.G cables is 
U.G ÷P¤ÒPÎÀ SøÓ£õkPøÍ PshÔ¯ G¢u ÷\õuøÚ 
÷©ØöPõÒÍ¨£kQÓx? 

(A) Loop test  
 ¿¨ ÷\õuøÚ 

(B) External growler test 

 öÁÎ¨¦Ó QöμÍÍº ÷\õuøÚ 

(C) Break down voltage test  
 ¤÷μU hÄß ÷ÁõÀ÷hä ÷\õuøÚ 

(D) Insulation resistance test 
 Cß_÷»\ß öμ]ìhßì ÷\õuøÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

18. Ceramic capacitor typically use ceramic as  
ö\μªU öP¨£õ]mh›À ö\μªU GßÚÁõP £¯ß£kQÓx? 

(A) A plate (B) A conductor 

 ¤÷ÍmhõP  Phzv¯õP 

(C) A semi conductor (D) A dielectric material 
 SøÓ Phzv¯õP  øh G»Um›U ö£õ¸ÍõP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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19. The mathematical expression for capacitance (C) is given by 
öP¨£õ ]mhßêß (C) Pou \©ß£õk 

(A) 
Q
V

C =  (B) VQC ×=  

(C) 
R
V

C =  (D) 
V
Q

C =  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

20. How does capacitor store electrical energy? 
öP¨£]mhº ªß BØÓø» GÆÁõÖ ÷\ªUQÓx? 

(A) By converting electrical energy into mechanical energy 
 ªß BØÓø» C¯¢vμ BØÓ»õP ©õØÖÁuß ‰»® 

(B) By creating a magnetic field around its terminals  
 Auß •øÚ¯[PøÍ _ØÔ J¸ Põ¢u ¦»zøu E¸ÁõUSÁuß ‰»® 

(C) By storing electrical energy in the form of an electrostatic field
 ªßÛ¯À ¦»zvß ÁiÁzvÀ ªß BØÓø» ÷\ª¨£uß ‰»® 

(D) By using chemical reactions within its plates 
 Auß PmkPÐUSÒ Cμ\õ¯Ú GvºÂøÚPøÍ¨ £¯ß£kzxÁuß 

‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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21. How many lamps are required for parallel operation of two 3 phase
alternators? 
Cμsk 3 ÷£ì BÀhº÷ÚmhºPøÍ £UP Cøn¨¤À ö\¯À£kzu GzuøÚ 
ÂÍUSPÒ ÷uøÁ¨£kQßÓÚ? 

(A) 3 (B) 6 

(C) 8 (D) 12 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

22. The condition for paralleling of alternator is 
BÀhº÷Úmhº ÷£μ»¼[ ö\´ÁuØS›¯ {£¢uøÚ   

(A) Power and power factors are same  
 vÓß ©ØÖ® vÓßPõμo \©©õP C¸US®÷£õx 

(B) Voltage must be different  
 ªßÚÊzu® ©õÖ£mk C¸US®÷£õx 

(C) Polarity must be different 
 ö£õ»õ›mi ©õÖ£mk C¸US®÷£õx 

(D) Frequency must be same 
 Aø»Ä÷ÁP® \©©õP C¸US®÷£õx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

23. Frequency of the alternator is depends upon the  
BÀhº÷Úmh›ß Aø»Ä÷ÁP® —————— I ö£õÖzx ©õÖ£k®. 

(A) Voltage (B) Current 

 ªßÚÊzu®  ªß÷Úõmh® 

(C) Speed (D) Power 
 ÷ÁP®  vÓß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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24. Hydrogen is used to large alternators mainly is to 
ö£›¯ BÀhº÷ÚmhºPÎÀ øímμáß •UQ¯©õP £¯ß£kzu¨£kÁx 

(A) Distortion of wave form 
 ÷ÁÆ £õºø© ]øuÄÓaö\´¯ 

(B) Strengthen magnetic field  
 Põ¢u¨¦»zøu £»¨£kzu 

(C) Cool the machine 
 C¯¢vμzøu SÎμ¨£kzu 

(D) Reduce eddy current losses 
 Gi Pμsm CÇ¨ø£U SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

25. Frequency ( )f  of the alternator is given by 
BÀhº÷Úmh›ß Aø»Ä÷ÁP® 

(A) f
PN

=120
 (B) f

PN =
120

 

(C) f
P

N =
120

 (D) f
N

P =
120

 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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26. Why damper windings are used for 3 phase alternator?  
3 ÷£ì BÀhº÷ÚmhºPÎÀ ÷h®£º øÁßi[ Hß £¯ß£kzu¨£kQÓx? 

(A) Reduce the starting torque 
 xÁUPa _ÇØÖzvÓøÚU SøÓUP 

(B) To prevent the hunting effect  
 íßmi[ ÂøÍøÁz ukUP 

(C) Reduce the losses 
 CÇ¨¦PøÍU SøÓUP 

(D) Increase the efficiency 
 ÂøÚzvÓøÚ AvP›UP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

27. In star connected alternator. If the line voltage is 415 V. Phase
voltage will be 
ìhõº Cøn¨¦ BÀhº÷Úmh›À ø»ß ªßÚÊzu® 415 V GÛÀ ÷£ì 
ªßÚÊzu® 

(A) 240 V (B) 230 V 

(C) 200 V (D) 220 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

28. Single phase portable generators are generally made in the range of
][QÒ ÷£ì ÷£õºh¤Ò öáÚ÷μmhõÚx ö£õxÁõP —————— Áμ®¤À 
ö\´¯¨£kQÓx. 

(A) 5 KVA (B) 50 KVA 

(C) 500 KVA (D) 1000 KVA 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



438 – Electrician 16

29. How does the excitation of a synchronous generator affect its power
output? 
][PºÚì öáÚ÷μmh›À öÁÎ°h¨£k® BØÓÀ GÆÁõÖ £õvUQßÓx? 

(A) Increasing excitation increase the power output 
 yskuø» AvP›¨£x ªß EØ£zvø¯ AvP›UQÓx 

(B) Decreasing excitation increases the power output  
 yskuø» SøÓ¨£x ªß EØ£zvø¯ AvP›UQÓx 

(C) Excitation does not affect power output 
 yskuÀ ªß EØ£zvø¯ £õvUPõx 

(D) The power output is only affected by the load 
 ªß EØ£zv _ø©¯õÀ ©mk÷© £õvUP¨£kQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

30. The V-curves of a synchronous motor show relationship between 
][P›Úì ÷©õmhõ›ß V&ÁøÍÄPÒ ¤ßÁ¸ÁÚÁØÔØS Cøh÷¯¯õÚ 
öuõhºø£U PõmkQßÓÚ. 

(A) Excitation current and back e.m.f 
 QÍºa] ªß÷Úõmh•® ¤ß÷ÚõUS ªßÛ¯US Âø\²® 

(B) Field current and power factor  
 ¦» ªß÷Úõmh® ©ØÖ® £Áº ÷£Uhº 

(C) D.C field current and A.C armature current 
 ÷|ºvø\ ¤ß¦» ªß÷Úõmh® ©ØÖ® ©õÖvø\ ªßøP ªß÷Úõmh®

(D) Armature current and supply voltage 
 Bº©a`º ªß÷Úõmh® ©ØÖ® \¨øÍ ªßÚÊzu® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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31. A synchronous motor connected to infinite busbars has at constant 
full load, 100% excitation and unity p.f on changing the excitation
only the armature current will have  
GÀø»¯ØÓ £ì£õºPÐhß CønUP¨£mh Jzvø\ÁØÓ ÷©õmhõ›ß 

{ø»°ß •Ê _ø©, 100% E¸ÁõS® ©ØÖ® (unity) JØÖø© p.f 
ªßÚPzøu ©mk® ©õØÖ® ÷£õx (Bº©a`º) ªßÚP ªß÷Úõmh® 

(A) Leading p.f with under-excitation 
 SøÓÁõP E¸ÁõS® •ßÚo ¤.GL¨ 

(B) Leading p.f with over-excitation  
 AvP©õP E¸ÁõS® •ßÚo ¤.GL¨ 

(C) Lagging p.f with over-excitation 
 ¤ßu[Q¯ ¤.GL¨ AvP©õP E¸ÁõS®  

(D) No change of p.f 
 ¤.GL¨ CÀ ©õØÓ® CÀø» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

32. The motor suitable for loads where constant speed required is 
©õÓõu ÷ÁP® ÷uøÁ¨£k® ÷»õkPÐUS ö£õ¸zu©õÚ ÷©õmhõº ÁøP 

(A) Single phase motor (B) DC series motor 

 ][QÀ ÷£ì ÷©õmhõº  i] ^›ì ÷©õmhõº 

(C) Synchronous motor (D) Squirrel case motor 
 ][PμÚì ÷©õmhõº  ìS›À÷Pì ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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33. The field of a synchronous motor is under excited, the power factor
will be 
J¸ ][PμÚì ÷©õmhõº Aßhº GUøé÷h\ß BP C¸UQÓx GÛÀ 
£Áº÷£Uhº —————— BP C¸US®. 

(A) Zero (B) Lagging 

 §ä¯®  ÷»Q[ 

(C) Leading (D) Unity 
 ½i[  ³Ûmi 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

34. How to compensate demagnetising effect due to armature reaction
in an alternator? 
Bº©a`º ›¯õUåÚõÀ BÀhº÷Úmh›À HØ£k® i&÷©UÚøh][ ÂøÍøÁ 
GÆÁõÖ Dk ö\´¯÷Ásk®? 

(A) Reducing the field excitation current 
 ¥Àk GUøé÷h\ß AÍøÁU SøÓUP ÷Ásk® 

(B) Increasing the field excitation current  
 ¥Àk GUøé÷h\ß AÍøÁ AvP›UP ÷Ásk® 

(C) Reducing the speed of the alternator 
 BÀhº÷Úmh›ß ÷ÁPzøu SøÓUP ÷Ásk® 

(D) Increasing the speed of the alternator 
 BÀhº÷Úmh›ß ÷ÁPzøu AvP›UP ÷Ásk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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35. At leading p.f the armature flux in an alternator —————— rotor 
flux. 
•ßÚo p.f&CÀ BÀhº÷Úmh›À EÒÍ Bºö©a`º L¨ÍUì ÷μõmhõº 
L¨ÍUøéz –––––––––– 

(A) Opposes (B) Aids 

 GvºUQÓx  EuÄuÀ 

(C) Distorts (D) Does not affect 
 ]øu¨£x  £õvUPõx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

36. Sharing of load by two alternators running in parallel can be
achieved by 
\© Aö»¼À C¯[S® Cμsk BÀhº÷|mhºPÐUS _ø©PøÍ¨ £QºÁuõÀ 
—————— Aøh¯»õ®. 

(A) Change of excitation (B) Change of speed 

 ysh¼À ©õØÓ®  ÷ÁP ©õØÓ® 

(C) Change of Prime mover input (D) Change of Armature 
 ¤øμ® ‰Áº EÒÏmiß ©õØÓ®  Bºö©a`º ©õØÓ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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37. Some engineers prefer ‘lamps bright’ synchronization to ‘lamps dark’
synchronization because   
]» ö£õÔ¯õÍºPÒ ‘ÂÍUSPÒ C¸sh’ Jzvø\øÁ Âh ‘¤μPõ\©õÚ’
Jzvø\øÁ Â¸®¦QÓõºPÒ HöÚÛÀ 

(A) Brightness of lamps can be judged easily  
 ÂÍUSPÎß ¤μPõ\zøu GÎuõP wº©õÛUP •i²® 

(B) It gives sharper and more accurate synchronization 

 Cx Tºø©¯õÚ ©ØÖ® ªPÄ® xÀ¼¯©õÚ Jzvø\øÁ ÁÇ[SQÓx 

(C) Flicker is more pronounced  
 ¨ÎUPº CßÝ® Ea\›UP¨£kQÓx 

(D) It can be performed quickly 
 Aøu ÂøμÁõP ö\´¯ •i²®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

38. Alternators designed to be driven by steam-turbines are built for 
}μõÂ Âø\¯õÈPÍõÀ C¯UP ÁiÁø©UP¨£mh BÀhº÷Úmhº GuØPõP 
E¸ÁõUP¨£mkÒÍÚ 

(A) High speed operation  
 Av÷ÁP ö\¯À£õk 

(B) Low speed operation 

 SøÓ¢u ÷ÁP ö\¯À£õk   

(C) Medium speed operation  
 ªu©õÚ ÷ÁP ö\¯À£õk 

(D) Both low and medium speed operation 
 SøÓ¢u ©ØÖ® |kzuμ ÷ÁP® BQ¯ Cμsk®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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39. Adjusting the speed of the prime mover of an alternator is primary
necessary. Which one of the following is the reason for this? 
BÀhº÷Úmhº ¤μuõÚ C¯UQ°ß ÷ÁPzøu \›ö\´Áx •ußø©¯õÚ 
AÁ]¯®. ¤ßÁ¸ÁÚÁØÔÀ Gx CuØPõÚ Põμn®? 

(A) To get constant frequency (B) To get constant voltage 

 {ø»¯õÚ AvºöÁs ö£Ó  {ø»¯õÚ ªßÚÊzu® ö£Ó 

(C) To decrease output (D) To get increase frequency 
 x¸Á •øÚøÁ SøÓUP  AvºöÁs&I AvP›UP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

40. The function of synchroscope to 
][÷μõì÷Põ¨¤ß ö\¯À£õk 

(A) Indicate the correct instant of synchronizing two alternators  
 Cμsk BÀhº÷|mhºPøÍ Jzvø\¨£uØPõÚ \›¯õÚ u¸nzøu 

SÔUP 

(B) Connect the incoming alternator to the bus bar 

 EÒÁ¸® BÀhº÷|mhº £ì£õ¸hß CønUPÄ®   

(C) Adjust the frequency of incoming alternator 
 EÒÁ¸® BÀhº÷|mhº AvºöÁsøna \›ö\´¯Ä®  

(D) Indicate the correct phase sequence of the incoming alternator 
and bus bar 

 EÒÁ¸® BÀhº÷|mhº ©ØÖ® £ì£õ›ß \›¯õÚ Pmh Á›ø\ø¯U 
SÔUPÄ®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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41. NPN transistors preferred over PNP transistors because 
PNP iμõßêìh¸US £v»õP NPN iμõßêìhºPÒ ÷uº¢x 
GkUP¨£kÁx 

(A) Higher barrier voltage  
 AvP©õÚ ÷£›¯º ªßÚÊzu® 

(B) Higher resistivity value 

 AvP öμêìiÂmi ©v¨¦   

(C) Higher current carrying capacity 
 ªß÷Úõmhzøu uõ[S® AÍÄ AvP® 

(D) Higher thermal stablity 
 AvP öÁ¨£zuõÀ ©õØÓ©øh¯õu ußø©   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

42. ____________ provides the highest average DC output voltage for a
given AC input. 
öPõkUP¨£mh H] Cß¦miØPõÚ AvP£m\ \μõ\› i] AÄm¦m 

ªßÚÊzuzøu ____________ ÁÇ[SQÓx. 

(A) Half-wave rectifier (B) Full-wave rectifier 

 íõ¨&÷ÁÆ öμUiLø£¯º  •Ê&÷ÁÆ öμUiLø£¯º 

(C) Full-wave bridge rectifier (D) Semi wave rectifier 
 •Ê&÷ÁÆ ¨›mä öμUiLø£¯º  ö\ª ÷ÁÆ öμUiLø£¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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43. The element that has the biggest size in a transistor is 
J¸ iμõß]ìh›À ªP¨ö£›¯ E¸Á AÍÄÒÍ G»ö©ßm ____________
BS®. 

(A) Collector (B) Emitter 

 Pö»Uhº  Gªmhº 

(C) Base (D) Collector-base junction 
 ÷£ì  Pö»Uhº&÷£ì á[åß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

44. In a bridge rectifier circuit, the output ripple frequency is 
¨›mä öμUiø£¯º \ºU³m, AÄm¦m ›¨£Ò ¤›SÁß] 

(A) Equal to the input AC frequency  
 Cß¦m H] ¤›SÁß]US \©® 

(B) Half of the input AC frequency 

 Cß¦m H] ¤›SÁß]°ß £õv   

(C) Twice the input AC frequency 
 Cß¦m H] ¤›SÁß] ÷£õÀ Cμsk ©h[S  

(D) Four times the input AC frequency 
 Cß¦m H] ¤›SÁß] ÷£õÀ |õßS ©h[S   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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45. The typical forward voltage drop across a silicon diode is 
J¸ ]¼UPõß øh÷¯õiß (L£õºÁºk) •ß÷ÚõUS ø£¯õì ÁÇUP©õP 
ªßÚÊzu® Põn¨£kQÓx 

(A) 0.2 V (B) 0.7 V 

(C) 1.2 V (D) 1.5 V 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

46. Why is a transformer used in conjunction with a rectifier in power
supply circuits? 
J¸ öμUiLø£¯º \ºU³miÀ iμõßì£õº©º Hß EuÄQÓx? 

(A) To filter the DC output to make it smooth  

 DC AÄm¦møh ö©ßø©¯õUP ¤Àhº ö\´uÀ 

(B) To convert the AC voltage to a different level  

 AC ªßÚÊzuzøu ÷ÁÖ {ø»US ©õØÔ Aø©UP   

(C) To increase the frequency of the AC voltage 
 H] ªßÚÊzuzvß ¤›SÁß]ø¯ AvP›UP  

(D) To store electrical energy for future use 
 GvºPõ» £¯ß£õmiØPõP ªß BØÓø»a ÷\ªUP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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47. The reason for tripping the UPS with full load? 
•Ê÷»õk {ø»°À UPS m›¨¤[ BÁuØPõÚ Põμn®  

(A) Main supply fuse blown 
 ö©°ß \¨øÍ ¤³ì G›¢v¸zuÀ  

(B) Incorrect overload setting 

 KÁº÷»õk ö\mi[ uÁÓõP°¸zuÀ 

(C) Battery charged only 75%  

 ÷£mh› 75% ©mk® \õºä BQ°¸zuÀ 

(D) Battery over charged 
 ÷£mh› ªP AvP \õºä BQ°¸zuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

48. ____________ component in a UPS is responsible for storing energy. 
UPS CÀ BØÓø»a ÷\ª¨£uØS¨ ____________ £¯ß£kzu¨£kQÓx. 

(A) Transformer (B) Battery 

 iμõßìL£õº©º  ÷£mh› 

(C) Inverter (D) Capacitor 
 CßöÁºhº  ÷P¨£õ]mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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49. ____________ is the input stage of an inverter. 
____________ Gß£x CßöÁºh›ß Cß¦m {ø»  

(A) Battery (B) Driver 

 ÷£mh›  iøμÁº 

(C) Switching circuits (D) Transformer 
 _Âm][ _ØÖPÒ  iμõßìL£õº©º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

50. ____________ UPS topology is typically the most cost-effective. 
____________ UPS ÁøP \õuõμn©õP SøÓÁõÚ ö\»øÁU öPõshx. 

(A) Online (B) Off-line 

 Bßø»ß  BL¨&ø»ß 

(C) Inconsistent (D) Double conversion 
 ^μØÓ  h¦Ò PßÁºåß 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

51. ____________ component might be blown out if the UPS works on
240V Ac mains but does not operate on battery? 
²¤Gì BÚx 240V H] ö©°ßì ‰»©õP ÷Áø» ö\´QÓx, BÚõÀ 
÷£mh› C¯[PÂÀø» GßÓõÀ, AuØS GßÚ Põμn® 

(A) Battery (B) Charger 

 ÷£mh›  \õºáº 

(C) Fuse (D) Inverter 
 ¤³ì  CßöÁºhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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52. Addition of binary number 101 + 010 = 
¤ßÁ¸® ø£Ú› GsPøÍ TmkP  

101 + 010 = 

(A) 0000 (B) 1001 

(C) 0111 (D) 1010 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

53. What is the hexadecimal representation of the decimal number 255?
öh]©À Gs 255 Cß öíUéöh]©À SÔ±k Gx? 

(A) FF (B) FE 

(C) FD (D) FO 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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54. Logic gate refers the truth table is 

Input

A B

Output 

BAY +=

0 0 1 

0 1 0 

1 0 0 

1 1 0 
 
m¹z ÷h¤ÐUS öuõhº¦øh¯ »õâU ÷Pm 

Cß¦m

A B

AÄm¦m 

BAY +=

0 0 1 

0 1 0 

1 0 0 

1 1 0 

(A) OR (B) NOT 

(C) NOR (D) AND 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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55. ____________ logic rates are typically used to design a combinational
circuit 
Põ®¤÷ÚåÚÀ \ºU³mPøÍ ÁiÁø©UP ö£õxÁõP »õâU ÷Pmì&PÒ 
£¯ß£kQßÓÚ 

(A) AND, OR, NOT (B) VFD, VVVFD 

 AND, OR, NOT  VFD, VVVFD 

(C) Flip-flops (D) VFD, VVFD 
 L¤Î¨»õ¨PÒ  VFD, VVFD 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

56. Why are resistors with lower tolerance values (higher precision) 
generally more expensive? 
SøÓ¢u hõ»μßì ©v¨¦PÒ (AvP xÀ¼¯®) öPõsh ªßuøh¯[PÒ 
ö£õxÁõP Hß AvP Âø» öPõshøÁ? 

(A) They offer higher variability  
 AøÁ AvP ©õÖ£õmøh ÁÇ[SQßÓÚ 

(B) They provide higher accuracy 

 AøÁ AvP xÀ¼¯zøu ÁÇ[SQßÓÚ   

(C) They offer lower variability 
 AøÁ SøÓ¢u ©õÖ£õmøh ÁÇ[SQßÓÚ  

(D) They provide lower accuracy 
 AøÁ SøÓ¢u xÀ¼¯zøu ÁÇ[SQßÓÚ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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57. Potentiometers of carbon type are available in 
Põº£ß ÁøP°ß ö£õmöhß]÷¯õ«mhºPÒ G¢u ÁøP°À QøhUQßÓÚ 

(A) Linear type only  
 ¼Û¯º ÁøP ©mk® 

(B) Logarithmic type only 

 »õUP›zªU ÁøP ©mk®   

(C) Stepping type only  
 £i{ø» ÁøP ©mk® 

(D) Both linear and logarithmic types 
 ¼Û¯º ©ØÖ® »õUP›zªU ÁøPPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

58. In a BJT ____________ configurations is used to amplify signals with 
high voltage gain. 
J¸ BJT CÀ, E¯º ÷ÁÀ÷hä ÷P°ß ]UÚÀPøÍ B®¤¼ø£ ö\´¯ 
—————— £¯ß£kzu¨£kQÓx. 

(A) Common Base (B) Common Emitter 

 Põ©ß ÷£ì  Põ©ß Gªmhº 

(C) Common Collector (D) Common Gate 
 Põ©ß Pö»Uhº  Põ©ß  ÷Pm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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59. If a resistor has the color code Blue, Grey, Brown and Gold, Then its
resistance value and tolerance is 
J¸ öμ]ìhº {ÓU SÔ±k }»® (Blue), \õ®£À (Grey), £Ê¨¦ (Brown) 
©ØÖ® (Gold) u[P® Gß£uõP C¸¢uõÀ, Auß öμ]ìhßì ©v¨¦ ©ØÖ® 
hõ»μßì 

(A) 68 Ω ± 5 %  (B) 68 KΩ ± 5 % 

(C) 680 Ω ± 5 % (D) 680 KΩ ± 5 % 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

60. In a standard potentiometer, how many terminals it have? 
J¸ {ø»¯õÚ ö£õmöhß÷hõ«mh›À, GzuøÚ öhºªÚÀPÒ EÒÍÚ? 

(A) 2 (B) 3 

(C) 4 (D) 5 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

61. In transformer, electrical energy is transfered from one circuit to
another without change in 
iμõßì£õº©›À, ªß BØÓ»õÚx J¸ \ºU³m&À C¸¢x ©ØöÓõßÔØS 
©õØÓ¨£k® ÷£õx ©õÓõ©À C¸¨£x 

(A) Voltage (B) Current 

 ªßÚÊzu®  ªß÷Úõmh® 

(C) Frequency (D) Turns 
 AvºöÁs  _ØÖPÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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62. Pulse transformers are used in ____________ circuits. 
£Àì ÁøP iμõßì£õº©ºPÒ —————— _ØÖPÎÀ £¯ß£kQÓx. 

(A) Electrical circuit (B) Electronics circuit 

 ªß _ØÔÀ  ªßÚq _ØÔÀ 

(C) Automobile circuit (D) Welding circuit 
 Bm÷hõö©õø£À _ØÔÀ  öÁÀi[ _ØÔÀ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

63. If the load of a transformer is halved, the  copper losses will be
reduced to 
iμõßì£õº©›À ÷»õk AÍÄ £õv¯õP SøÓ¢uõÀ ö\®¦ CÇ¨¦ AÍÄ 
—————— SøÓ²®. 

(A) ¼ times (B) ½ times 

 ¼ ©h[S  ½ ©h[S 

(C) 1/3 times (D) 1/8 times 
 1/3 ©h[S  1/8 ©h[S 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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64. Why the copper losses are not considered in open circuit test of the
transformer 
J¸ ªß©õØÔ°À vÓ¢u _ØÖ ÷\õuøÚ°À uõªμ CÇ¨¦ Hß PnUQÀ 
öPõÒÍõ©À uÂºUP¨£kQÓx? 

(A) Due to small current  
 SøÓ¢u AÍÄ ªß÷Úõmh® Põμn©õP 

(B) Due to high voltage drop 

 AvP ªßÚÊzu ÃÌa] Põμn©õP 

(C) Due to maximum current  
 AvP AÍÄ ªß÷Úõmh® Põμn©õP 

(D) Due to coil resistance 
 Põ°¼ß ªßuøh Põμn©õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

65. Generally the transformers has the efficiency of 
ö£õxÁõP J¸ ªß©õØÔ°ß ÂøÚzvÓß 

(A) 40 to 60 % (B) 60 to 70 % 

 (C) 70 to 80 % (D) 95 to 97 % 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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66. Why a stepped core arrangement is used in large transformers? 
ö£›¯ AÍÂ»õÚ ªß©õØÔ°À ìöh¨k ÷Põº Aø©¨¦ Hß 
Aø©UP¨£kQÓx? 

(A) To minimise iron loss 
 C¸®¦ CÇ¨¦ SøÓUP  

(B) To minimise eddy current loss 

 Gi&Pμsm CÇ¨¦ SøÓUP   

(C) To minimise hysterisis loss  
 æìh›\ì CÇ¨¦ SøÓUP 

(D) To minimise copper loss 
 ö\®¦ CÇ¨¦ SøÓUP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

67. The material normally used for transformer bobbin is 
iμõßì£õº©›ß £õ¤ß ö£õ¸ÍõÀ ö\´¯¨£kQÓx. 

(A) Fabric basic hylum (B) Wood 

 L÷£¤›U ÷£]U øí»®  ©μ® 

(C) Aluminium sheet (D) Plastic 
 A¾ªÛ¯ uPk  ¤ÍõìiU 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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68. How many magnetic paths Radina Berry type transformer? 
öμiÚõ ö£º› ÁøP ªß©õØÔ°À Põ¢u¨ £õøuPÎß GsoUøP GÆÁÍÄ 
C¸US®? 

(A) One (B) Two 

 JßÖ  Cμsk 

(C) Three (D) Numerous 
 ‰ßÖ  HμõÍ©õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

69. Why the crackle test on transformer oil is conducted? 
iμõßì£õº©º B°¼À QμõUQÀ ÷\õuøÚ Hß ö\´¯¨£kQÓx? 

(A) To find acidity (B) To find moisture 

 Aª»zußø© PshÔ¯  Dμ¨£u® PshÔ¯ 

(C) To find viscosity (D) To find dielectric strength 
 £õQ¯À ußø© PshÔ¯  øh G»Um›U Á¼ø© PshÔ¯

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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70. A Buchhol’z relay shall be installed in  
J¸ ¦UPõÀì ›÷»øÁ —————— À {ÖÁ ÷Ásk®. 

(A) Auto transformer  
 Bm÷hõ ªß©õØÔ 

(B) Welding transformer 

 öÁÀi[ ªß©õØÔ  

(C) Air cooled transformer  
 PõØÖ ‰»® SÎμ¨£kzx® ªß©õØÔ 

(D) Oil cooled transformer 
 Gsön´ ‰»® SÎμ¨£kzx® ªß©õØÔ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

71. Non flammable of transformer oil is 
w¨£ØÓõu ªß©õØÔ Gsön´ 

(A) Mineral oil (B) Silicon liquid 

 ªÚμÀ Gsön´  ]¼UPõß vμÁ® 

(C) FR3 fluid (D) Paraffin oil 
 FR3 vμÁ®  L£õμ¤ß Gsön´ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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72. Why primary of potential transformer is wound with thin wire and
large number of turns? 
ªßAÊzu ªß©õØÔ°À ¤øμ©› Põ°À ö©À¼¯ K¯º ©ØÖ® AvP 
GsoUøP°À Hß _ØÓ¨£mkÒÍx? 

(A) To offer high inductance  
 AvP yshø» ÁÇ[P 

(B) To obtain required voltage ratio 

 ÷ÁõÀ÷hä ÂQuzøu ö£Ó   

(C) To regulate the primary current 
 ¤øμ©› ªß÷Úõmhzøu Pmk¨£kzu  

(D) To stablize the input and output voltage 
 EÒ ©ØÖ® öÁÎ ªßÚÊzuzøu {ø» {Özu   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

73. How does the moisture is controlled in breather fitted on power
transformer? 
£Áº ªß©õØÔ°À EÒÍ ¤›zu¼À Dμ¨£u® GÆÁõÖ 
Pmk¨£kzu¨£kQÓx? 

(A) Using sodium chloride  
 ÷\õi¯® S÷Íõøμk £¯ß£kzxuÀ 

(B) Using silicon dioxide 

 ]¼UPõß øh BUøék £¯ß£kzxuÀ 

(C) Using magnesium chloride  
 ö©UÜ]¯® S÷Íõøμk £¯ß£kzxuÀ 

(D) Using transformer oil 
 iμõßì£õº©º Gsön´ £¯ß£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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74. Important characteristics of transformer oil is 
ªß©õØÔ Gsön°ß •UQ¯©õÚ £s¦ 

(A) Lower flash point (B) Low dielectric strength 

 SøÓ¢u ¤Íõì £õ°sm  SøÓ¢u ªßPõ¨¦ Á¼ø© 

(C) Higher viscosity (D) Low specific resistance 
 AvP E¯Äzußø©  SøÓ¢u Cøn ªßuøh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

75. The dielectric strength of transformer oil is expected to be 
iμõßìL£õº©º B°¼ß øh G»Um›U Á¼ø© 

(A) 1 kV (B) 33 kV 

(C) 100 kV (D) 330 kV 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

76. Working principle of the two winding transformer 
C¸ øÁsi[ iμõßì£õº©ºPÎß Ai¨£øh¯õÚ C¯[SuzxÁ® 

(A) Self induction (B) Mutual induction 

 ö\À¨ CßhU\ß  «m_ÁÀ CßhU\ß 

(C) Principle of DC motor (D) Lenz’s law 
 i] ÷©õmhõº uzxÁ®  ö»ßì »õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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77. Why laminated core used in transformers? 
iμõßì£õº©›À ÷»ª÷Úmhm ÷Põº £¯ß£kzxÁuß ÷|õUP® GßÚ? 

(A) Reduce eddy current loss  
 Gi Pμsm CÇ¨ø£ SøÓzuÀ 

(B) Reduce hysteresis loss 

 îìh›]ì CÇ¨ø£ SøÓzuÀ 

(C) Reduce mechanical loss  
 ö©UPõÛUPÀ CÇ¨ø£ SøÓzuÀ 

(D) Reduce copper loss 
 Põ¨£º CÇ¨ø£ SøÓzuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

78. Why scott connections are used in transformer? 
J¸ ªß©õØÔ°À ìPõm Cøn¨¦ GuØPõP £¯ß£kzu¨£kQÓx? 

(A) Single phase supply to two phase supply  
 ][QÒ ÷£ì \¨øÍ°À C¸¢x Cμsk ÷£ì \¨øÍ GkUP 

(B) Single phase supply to three phase supply 

 ][QÒ ÷£ì \¨øÍ°À C¸¢x ‰ßÖ ÷£ì \¨øÍ GkUP   

(C) Three phase supply in to two phase supply 
 ‰ßÖ ÷£ì \¨øÍ°À C¸¢x Cμsk ÷£ì \¨øÍ GkUP  

(D) Star connected primary in to delta connected secondary 
 ìhõº Cøn¨¦ ¤øμ©›°À C¸¢x öhÀhõ Cøn¨¦ ö\Psh›ø¯ 

GkUP  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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79. Which loss of transformer is determined by short circuit test? 
iμõßì£õº©›ß G¢u CÇ¨¦ \õºm \ºU³m ÷\õuøÚ ‰»® 
wº©õÛUP¨£kQÓx? 

(A) Eddy current loss (B) Windage loss 

 Gi Pμsm CÇ¨¦  Âs÷hä CÇ¨¦ 

(C) Hysteresis loss (D) Copper loss 
 îìh›]ì CÇ¨¦  Põ¨£º CÇ¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

80. Why no-load test on a transformer is carried out? 
iμßì£õº©›À ÷|õ&÷»õk ÷\õuøÚ Hß ö\´¯¨£kQÓx? 

(A) To find copper loss  
 Põ¨£º CÇ¨¦ PnUQh 

(B) To find magnetising current and no-load current 

 ÷|õ&÷»õk Pμsm PnUQh   

(C) To find magnetising current 
 ÷©UÚøhê[ Pμsm PnUQh  

(D) To find iron loss 
 A¯ß CÇ¨¦ PnUQh   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

81. Kit-kat fuse cut-outs are made of 
Qm Põm ¤³ì Pm&AÄm BÚx —————— BÀ BÚx.  

(A) Porcelain (B) Glass wool 

 ÷£õº]¼ß  Psnõi P®£Î 

(C) Polystyrene (D) Cellulose 
 £õ¼ìøh›ß  ö\À¾÷»õì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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82. A fuse in a circuit provides protection against 
J¸ \ºU³miÀ EÒÍ J¸ ¤³ì GvμõP £õxPõ¨ø£ ÁÇ[SQÓx 

(A) Open circuit  
 vÓ¢u ªß_ØÖ 

(B) Over load 

 AvP _ø© 

(C) Short circuit and overload  
 SÖUS ªß_ØÖ ©ØÖ® AvP _ø© 

(D) Open circuit and overload 
 vÓ¢u ªß_ØÖ ©ØÖ® AvP _ø© 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

83. ____________ Relay has a special arrangement to operate when the
current drops to a pre-determined level. 
—————— ›÷» BÚx •ß¦ wº©õÛzu ªß÷Úõmh AÍÂß RÇõP 
SøÓ²® ÷£õx ö\¯À£k® ÁøP°À ]Ó¨¦ Aø©¨ø£ ö£ØÖÒÍx. 

(A) Voltage sensing relay (B) Under current relay 

 ªßÚÊzu® Enºzx® ›÷»  SøÓ¢u ªß÷Úõmh ›÷» 

(C) Electromagnetic relay (D) Thermal relay 
 ªßPõ¢u ›÷»  öuº©À ›÷» 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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84. Why stair case wiring useful in multi-storage buildings? 
£»©õi Pmih[PÎÀ ì÷hº ÷Pì J¯›[ Hß £¯ÝÒÍuõP EÒÍx? 

(A) It reduce the cost of wiring  
 J¯›[ Âø» SøÓ¨£uØUS 

(B) It allows the lamp to be controlled from both the top and 
bottom of the stair case 

 ì÷hº ÷Pì Á¯›[ R÷Ç C¸¢x® ©ØÖ® ÷©÷» C¸¢x® ÂÍUøP 
Pmk£kzu    

(C) It minimizes the number of switches required 
 SøÓ¢u AÍÄ _Âma ÷uøÁ£kÁuõÀ  

(D) It simplifies the electrical connections 
 ªß Cøn¨¦PÒ GÎuõP C¸UP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

85. Why are relays used in electrical systems? 
G»Um›PÀ ]ìhzvÀ ›÷» Hß £¯ß£kzu¨£kQÓx? 

(A) To manually control the opening and  closing of circuits 
 øP°ÚõÀ Pßm÷μõÀ ö\´x ªß_ØøÓ vÓUPÄ® ‰hÄ® 

(B) To automatically open or close an auxiliary circuit under 
specific conditions in the main circuit 

 uÛzxÁ {£¢uøÚ¯õÀ xøn ªß_ØÔß ‰»® ö©°ß _ØøÓ 
uõÚõP vÓ¢x AÀ»x ‰iUöPõÒÍ   

(C) To increase the voltage of the circuit 
 ªß _ØÔß ÷ÁõÀ÷hä AvP›UP  

(D) To measure voltage and current levels in a circuit 
 ªß_ØÔÀ EÒÍ ªßÚÊzu® ©ØÖ® ªß÷Úõmhzøu AÍÂh  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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86. How does the diversity factor the current demand calculation in a
circuit? 
J¸ ªß_ØÔÀ øhÁº]mi ÷£Uh›À Pμßm i©õßøh PnUQkÁx G¨£i? 

(A) It increases the calculated current demand  
 PnURk ö\´u Pμsiß ÷uøÁø¯ AvP›zuÀ 

(B) It decreases the calculated current demand 

 PnURk ö\´u Pμsiß ÷uøÁø¯ SøÓzuÀ   

(C) It increases the calculated voltage demand 
 PnURk ö\´u ªßÚÊzu ÷uøÁø¯ AvP›zuÀ  

(D) It increases the calculated power demand 
 PnURk ö\´u vÓß ÷uøÁø¯ AvP›zuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

87. How much height should socket-outlets be installed in bathroom 
according to the BIS? 
BIS uμ\õßÔß£i SÎ¯À AøÓ°ß \õQm AÄmö»m GÆÁÍÄ E¯μzvÀ 
øÁUP ÷Ásk®?  

(A) Less than 100 cm (B) At least 120 cm 

 100 cm US SøÓÁõP  120 cm U SøÓ¢ux 

(C) At least 130 cm (D) Exactly 150 cm 
 130 cm US SøÓ¢ux  150 cm \›¯õP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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88. How does a current sensing relay operate? 
Pμsm ö\ß][ ›÷» GÆÁõÖ ÷Áø» ö\´QÓx? 

(A) It operates when the current in the coil reaches a lower limit  
 Põ°¼À SøÓ¢u AÍÄ ªß÷Úõmh® ö\À¾®÷£õx 

(B) It operates when the temperature changes  
 öÁ¨£ AÍÂÀ ©õØÓ® HØ£k® ÷£õx    

(C) It operates when the voltage exceeds a preset value 
 ¤›ö\m AÍøÁ Âh ªßÚÊzu® AvP›US® ÷£õx  

(D) It operates when the current in the coil reaches an upper limit
 ªß÷Úõmh©õÚx Põ°¼ß E¯º©mh AÍøÁ PhUS® ÷£õx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

89. How is one cycle of alternating voltage or current defined? 
©õÖvø\ ªß÷Úõmh®/ªßÚÊzuzvÀ J¸ _ÇØ] GÆÁõÖ 
Áøμ¯ÖUP¨£kQÓx? 

(A) As one half of a wave with a constant polarity 
 {ø»¯õÚ ªß vø\°À J¸ Aøμ _ØÖ 

(B) As the interval between two successive voltage peaks 
 C¸ •øÚPÐUS Cøh÷¯ AvP ªßÚÊzu® 

(C) As one complete wave including both possitive and negative 
alternations 

 ÷|º©øÓ ©ØÖ® Gvº©øÓ ªß Aø»°ß •Ê _ØÖ 

(D) As the period between two zero-crossing of the wave form 
 ªß Aø»°ß Cμsk ã÷μõ Qμõæ[ Cøh÷¯ EÒÍ Põ»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   438 – Electrician 
  [Turn over 

45

90. The function of third pin in three pin plug top is 
‰ßÖ •øÚ ¤ÍUQÀ ‰ßÓõÁx ¤ßÛß £¯ß£õk 

(A) It connects live wires  
 ªß÷Úõmh® ö\À¾® ø»Æ J¯›À CønUP 

(B) It connects to the neutral wire 

 ªß÷Úõmh® ö\À¾® {²mμÀ J¯›À CønUP   

(C) It connects earth wire  
 Gºz Ehß Cøn¨ø£ ÷©ØöPõÒÍ 

(D) It is used for additional live wire 
 TkuÀ ø»Æ J¯›À £¯ß£kzu   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

91. How the capacity of batteries is specified? 
÷£mh› öP¨£õ]mi GÆÁõÖ SÔUP¨£kQÓx? 

(A) Volt (B) Watt 

 ÷ÁõÀm  Áõm 

(C) Volt Ampere (D) Ampere Hour 
 ÷ÁõÀm B®¤¯º  B®¤¯º íÁº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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92. How is local action prevented in a zinc plate used in a cell? 
ö\À¼À EÒÍ xzu|õP uPmiøÚ ÷»õUPÀ BUåÛÀ C¸¢x GÆÁõÖ 
£õxPõ¨£x? 

(A) Coating with thin layer of copper 
 Põ¨£º ÷Põmi[øP ]Ô¯ AÍÂÀ ÷\ºzuÀ 

(B) Amalgamating with mercury 

 ö©ºS›ø¯ øÁzx A©õÀP÷©åß ö\´uÀ 

(C) Immersing in concentrated hydrochloric acid  
 øím÷μõ S÷Íõ›U Aª»zvÀ ‰ÌP øÁzuÀ 

(D) Coating with layer of a gold 
 u[P •»õ® §_uÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

93. How is a metal deposited on to the surface of another metal during
electroplating? 
G»Um÷μõ ¤÷Ími[ ö\´²®÷£õx J¸ E÷»õP® ©ØöÓõ¸ E÷»õPzvß 
÷©Ø£μ¨¤À GÆÁõÖ öh£õ]m ö\´¯¨£kQÓx? 

(A) By chemical reaction (B) By thermal evaporation 

 ÷ÁvÂøÚ ©õØÓzvß ‰»®  öÁ¨£® BÂ¯õuÀ ‰»® 

(C) Physical deposition (D) By electrolysis 
 ¤]UPÀ öh£õ]\ß ‰»®  GÀm÷μõø»]ì ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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94. The chemical effect of electric current is 
G»Um›U Pμsiß ÷Áv¯À ÂøÍÄ 

(A) The production of heat  
 öÁ¨£® E¸ÁõS® 

(B) Chemical changes caused by the passage of electric current 
through a liquid 

 Aª» Pøμ\À ÁÈ÷¯ ªß÷Úõmh® £õ²®÷£õx ÷Áv°¯À ©õØÓ® 
HØ£k®   

(C) The formation of magnetic fields 
 Põ¢u ©sh»® E¸ÁõS®  

(D) The physical dissolution of metals 
 E÷»õPzvß C¯Ø¤¯À ußø© ©õÖ£k®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

95. Why the vent plug is kept during charging of a battery? 
÷£mh›ø¯ \õºâ[ ö\´²®÷£õx öÁßm ¤ÍUøP Hß vÓ¢x øÁUP 
÷Ásk®? 

(A) To escape the gas freely  
 Áõ² GÎuõP öÁÎ÷¯ØÖÁuØUPõP 

(B) To allow oxygen enter inside 

 BUêáøÚ EÒ÷Í ö\À» AÝ©vUP   

(C) To check the level of electrolyte 
 G»Um÷μõø»miß ©mhzøu ÷\õuøÚ ö\´¯  

(D) To check the colour changes in the plate 
 ¤÷Ímiß {Ó® ©õØÓzøu AÔ¯   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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96. A transformer connected in the star connection is typically used for 
ªß©õØÔ (transformer) PÎÀ ìhõº Cøn¨¦ GuØS £¯ß£kQÓx? 

(A) Reducing the line to line voltage 
 ø»ß&ø»ß ÷ÁõÀ÷hä SøÓUP 

(B) Providing neutral point 

 {³mμÀ £õ´ßm Aø©UP  

(C) Handling high current 
 AvP ªß÷Úõmhzøu øP¯õÍ   

(D) Increasing the line to line voltage 
 ø»ß&ø»ß ÷ÁõÀ÷hä AvP›UP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

97. In a three phase network, the symbol represent the star connection
is 
‰®•øÚ ªß_ØÔÀ ìhõº Cøn¨¤ØPõÚ SÔ±k Gx? 

(A)  (B)  

(C)  (D)  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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98. In a parallel IC circuit the frequency is increased above the resonant
frequency. Then, the impedance will be 
CßhUhº öP¨£õ]hº £UP Cøn¨¤À CønUP¨£k®÷£õx ¤›S¯ß] 
AÍÁõÚx öμ÷\õÚßì ¤›S¯ß]ø¯Âh AvP›US®÷£õx C®¤hßì 
GßÚÁõP C¸US®?  

(A) Decreases (B) Increases 

 SøÓ²®  AvP›US® 

(C) Remains constant (D) Oscillates 
 {ø»¯õP C¸US®  ©õÖ£k® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

99. Why the AC Transmission advantageous than DC Transmission? 
DC Transmission Âh AC Transmission I Hß ]Ó¢ux? 

(A) AC is easier to store in batteries  
 AC I GÎvÀ ªßP»ÛÀ ÷\ªUP»õ® 

(B) AC can be transmitter over long distance without any losses 

 AC I }sh yμzvÀ Gkzx ö\ÀÁuõÀ G¢u |èh•® HØ£hõx  

(C) AC can be easily stepped up or stepped down using transfers 
 ªß©õØÔ ‰»® GÎvÀ AvP›zx (A) SøÓzx iμõßìªåß 

ö\´¯»õ®  

(D) AC generates less heat in electrical components compared 
to DC 

 AC ªß÷Úõmh® EØ£zv ö\´²®÷£õx DC I Âh SøÓÁõÚ 
öÁ¨£® öÁÎ°k®   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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100. At resonant frequency, the impedance of a parallel IC circuits is? 
CßhUhº öP¨£õ]hº £UP Cøn¨¤À CønUP¨£k®÷£õx öμ÷\õÚßì 
¤›S¯ß]°À C®¤hßì G¨£i C¸US®? 

(A) Maximum  
 AvP©õP 

(B) Minimum 

 SøÓÁõP   

(C) Equal to the series reactance  
 ^›ì ›¯õUhßìUS \©©õP 

(D) Equal to the reactance of either the capacitor or the inductor 
 öP¨£õ]mhº AÀ»x CßhUhº CÁØÔÀ HuõÁx JßÔÀ \©©õP 

C¸US®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

101. When a housewife accidentally touched the metal part of a kettle, 
which was kept ‘ON’. She received shock, The reason is  
J¸ CÀ»zuμ] uØö\¯»õP Bß {ø»°À EÒÍ J¸ öPmi¼ß E÷»õP¨ 
£Svø¯z öuõmh ÷£õx, ªß\õμ Avºa] ö£Ó¨£mhõÒ, AuØPõÚ Põμn® 

(A) The fuse wire in the circuit is of higher capacity 

 ªß_ØÔÀ EÒÍ E¸Q P®¤ AvP vÓß öPõshx  

(B) The kettle is not connected with earth 

 öPmiÀ BÚx Gºz Ehß CønUP¨£hÂÀø»  

(C) There is no water in the kettle 
 öPmi¼ÝÒ uspº Hx® CÀ»õuuõÀ 

(D) The safety plug has become defective 
 £õxPõ¨¦ ¤ÍU £Êuøh¢xÒÍx  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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102. Why is earthing considered crucial in electrical systems? 
ªß Aø©¨¦PÎÀ Gºzv[ Hß •UQ¯©õÚuõP P¸u¨£kQÓx? 

(A) To  increase the electrical resistance  

 ªß uøhø¯ AvP›UP 

(B) To improve the efficiency of electrical transmission 
 ªß Phzx® ö\¯ÀvÓøÚ ÷©®£kzu    

(C) To enhance safety by providing a path for fault current  
 £õÀm PμskUPõÚ £õøuø¯ E¸ÁõUQ £õxPõ¨ø£ ÷©®£kzu 

(D) To balance the load across multiple circuits 
 £» _ØÖPÎÀ EÒÍ _ø©ø¯ \©{ø»¨£kzu   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

103. The minimum internal diameter for G.I. or Steel pipe earth
electrode is 
G.I. AÀ»x GLS SÇõ´ Gºz G»UμõkPÎß SøÓ¢u£m\ EÒ Âmh® 
GßÚ? 

(A) 25 mm (B) 30 mm 

(C) 38 mm (D) 50 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

104. The minimum thickness required for plate electrodes made of copper
is 
uõªμzuõÀ ö\´¯¨£mh ¤÷Ím G»UmμõkUS ÷uøÁ¯õÚ SøÓ¢u£m\
ui©ß GßÚ? 

(A) 2.8 mm (B) 3.15 mm    

(C) 6.3 mm (D) 8.0 mm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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105. If G.I. water pipe buried adjacent to the plate electrode, what should
be the minimum internal diameter of the pipe? 
¤÷Ím G»UμõkUS A¸QÀ ¦øuUP¨£mh G.I. }º SÇõ´US, SÇõ°ß 
SøÓ¢u£m\ EÒ Âmh AÍÄ GßÚ C¸UP ÷Ásk®? 

(A) 2 cm (B) 3 cm  

(C) 5 cm (D) 6 cm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

106. Connecting multiple earth electrode in parallel will 
£» Gºz G»UμõkPøÍ Cøn¯õP Cøn¨£uß ÂøÍÄ 

(A) Reduce the earth electrode resistance  

 Gºz G»Umμõk ªßuøh SøÓQÓx 

(B) Increase the earth electrode resistance 
 Gºz G»Umμõk ªßuøh AvP›UQÓx   

(C) Changes the voltage of the systems  
 Aø©¨¤ß ªßÚÊzuzøu ©õØÖQÓx 

(D) Enhances the insulation 
 Cß_÷»åøÚ ÷©®£kzxQÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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107. The principle of working of an induction heater. 
CshUåß ïmh›ß C¯[S uzxÁ® 

(A) Production of heat through of resistive material   

 ªß uøh°ß ‰»® öÁ¨£ EØ£zv 

(B) Generation of an electric current through a changing magnetic 
field 

 ©õÔÁ¸® Põ¢u¦»zvß ‰»® ªß÷Úõmhzøu E¸ÁõUSuÀ   

(C) Transmission of energy through convection  
 öÁ¨£a\»Ú® ‰»® BØÓÀ £›©õØÓ®  

(D) Direct heating of objects through radiation 
 PvºÃa_ ‰»® ö£õ¸mPøÍ ÷|μi¯õP `hõUSuÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

108. Motor type used in domestic washing machine is  
EÒ |õmk \»øÁ C¯zvμ[PÎß ö£õxÁõÚ £¯ß£kzu¨£k® ÷©õmhõº 
ÁøP  

(A) Induction motor (B) Synchronous motor 

 CßhU\ß ÷©õmhõº  ][U÷μõÚì ÷©õmhõº 

(C) Brushless motor (D) Stepper motor 
 ¤μè CÀ»õu ÷©õmhõº  ìöh¨£º ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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109. In induction heater, the cook-top material is madeup of  
CßhUåß ïmh›À \ø©US® ÷©À umk ö\´¯¨£k® ö£õ¸Ò 

(A) High heat resistant glass and ceramic plate  

 AvP öÁ¨£zøu GvºUS® Psnõi ¥[Põß uPk 

(B) Asbestos sheet 
 PÀ|õº uPk   

(C) Mica sheet  
 ø©UPõ uPk 

(D) Low heat resistant glass and ceramic plate 
 SøÓ¢u öÁ¨£zøu GvºUS® Psnõi ¥[Põß uPk   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

110. Using electric mixer, universal motor having 1200 watt. The
operating speed is  
G»Um›U ªUé›À £¯ß£kzu¨£k® 1200w  vÓß öPõsh ²ÛÁº\À 
÷©õmh›ß ÷ÁP® 

(A) 9000 rpm (B) 12000 rpm 

 9000 Bº ¤ G®  12000 Bº ¤ G® 

(C) 6000 rpm (D) 8000 rpm 
 6000 Bº ¤ G®  8000 Bº ¤ G® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

111. 0.5 to 2.0 litres capacity of a domestic kettle wattage  
0.5 •uÀ 2 ¼mhº öPõÒÍÍÄ öhõ©ìiU öPmi¼ß  Áõm÷hä 

(A) 1500 to 3000 watts (B) 3000 to 4000 watts 

 1500 •uÀ 3000 Áõmì  3000 •uÀ 4000 Áõmì 

(C) 350 to 1000 watts (D) 500 to 2000 watts 
 350 •uÀ 1000 Áõmì  500 •uÀ 2000 Áõmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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112. Speed of mixing the food mixer per minute  
EnÄ P»øÁ C¯¢vμzvß EnÄ  P»US® ÷ÁP® {ªhzvØS  

(A) 3000 to 14000 rpm (B) 1000 to 1500 rpm 

 3000 •uÀ 14000 Bº ¤ G®  1000 •uÀ 1500 Bº ¤ G® 

(C) 1500 to 2000 rpm (D) 2000 to 3000 rpm 
 1500 •uÀ 2000 Bº ¤ G®  2000 •uÀ 3000 Bº ¤ G® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

113. Why a thermostatic device is used in an automatic iron? 
uõÛ¯[Q A¯ß £õUêÀ öuº÷©õìhõiU \õuÚ® Hß 
£¯ß£kzu¨£kQÓx? 

(A) Speed (B) Efficiency 

 ÷ÁP®  ö\¯ÀvÓß 

(C) Weight (D) Temperature control 
 Gøh  öÁ¨£{ø» Pmk¨£kzxuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

114. How does a geyser heat water? 
R\º GÆÁõÖ }øμ `hõUSQÓx? 

(A) Electricity (B) Pressure 

 ªß\õμ®  AÊzu® 

(C) Gas (D) Steam 
 Áõ² (÷Pì)  }μõÂ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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115. How does geyser maintain the water temperature? 
J¸ R\º }›ß öÁ¨£{ø»ø¯ GÆÁõÖ £μõ©›UQÓx? 

(A) pump (B) filter 

 £®¨  ÁiPmi 

(C) valve (D) thermostat 
 ÁõÀÄ  öuº÷©õìhõm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

116. Economical setting of geyser temperature is  
R\›ß GPÚõªUPÀ öÁ¨£{ø» Aø©¨¦ AÍÄ 

(A) 40° C – 45° C  (B) 50° C – 55° C   

(C) 60° C – 65° C (D) 70° C – 75° C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

117. The primary function of the bimetallic heater in the cooking range is
SUQ[  ÷μg]ß ø£ö©mhÀ  ïmh›ß •ußø© ö\¯À£õk GßÚ? 

(A) To control the oven light   

 Ak¨¤ß ø»møh Pmk¨£kzu 

(B) To regulate the temperature of the oven 
 Ak¨¤ß öÁ¨£{ø»ø¯ JÊ[S¨£kzu   

(C) To ensure correct resistance for the element  
 G»ö©ßkPÎß \›¯õÚ ªßuøhø¯ EÖv ö\´¯   

(D) To measure cooking time 
 \ø©¯À ÷|μzøu AÍÂh   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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118. The primary component under the ceramic plate of an induction
heater is  
CshU\ß ïmh›ß ¥[Põß uPmiß RÌ EÒÍ •ußø© TÖ Gx? 

(A) A gas burner (B) A heating coil 

 J¸ G›Áõ² £ºÚº  J¸ öÁ¨£‰mk® _¸Ò 

(C) An electromagnetic coil (D) A quartz element 
 J¸ ªß Põ¢u _¸Ò  J¸ SÁõºmì G»ö©ßm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

119. The typical power rating range for a food mixer 
¦m ªUé›ß ö£õxÁõP BØÓÀ ©v¨¥k Áμ®¦ GßÚ? 

(A) 50 to 200 watts (B) 100 to 750 watts 

 50 •uÀ 200 Áõmì  100 •uÀ 750 Áõmì 

(C) 500 to 1000 watts (D) 1000 to 2000 watts 
 500 •uÀ 1000 Áõmì  1000 •uÀ 2000 Áõmì 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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120. Why changes in the circuit provide different heat in step switch of
cooking range system? 
SUQ[ ÷μg]ß ìöh¨ _Âma]À öÁÆ÷ÁÖ öÁ¨£[PøÍ ÁÇ[P _ØÔÀ 
GßÚ ©õØÓ[PÒ ö\´¯ ÷Ásk®? 

(A) Element size  

 G»©sm AÍÄ 

(B) Element position 
 G»©sm {ø»   

(C) Circuit resistance or voltage  
 _ØÔß ªßuøh AÀ»x ªßÚÊzu® 

(D) Power supply type 
 ªß Â{÷¯õP ÁøP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

121. The function of protective resistor in DC four point starter is  
i] 4 £õ°sm xÁUQ°À (ìhõºhº) EÒÍ £õxPõ¨¦ ªßuøh°ß 
ö\¯À£õk  

(A) To limit the speed  

 ÷ÁPzøu Pmk¨£kzu 

(B) To limit the field current 
 ¥Àk ªß÷Úõmhzøu Pmk¨£kzu   

(C) To limit the armature current  
 Bº©a`º ªß÷Úõmhzøu Pmk¨£kzu 

(D) To limit the holding coil 
 ÷íõÀi[ Põ°¼ß ªß÷Úõmhzøu Pmk¨£kzu   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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122. Why fractional pitch windings used for the D.C. motor? 
i] ÷©õmhõ¸US Hß ¤μõUéÚÀ ¤ma øÁsi[ì £¯ß£kzx¨£kQÓx? 

(A) Increase the emf (B) Reduce copper losses 

 ªß C¯US Âø\ø¯ AvP›UP  uõªμ CÇ¨ø£U SøÓUP 

(C) Reduce the sparking (D) To improve the cooling 
 w¨ö£õÔø¯U SøÓUP  SÎºa]ø¯ ÷©®£kzu 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

123. Ward Leonard method speed control of D.C. motor is basically a  
i] ÷©õmhõ›ß ÷ÁPU Pmk¨£õk •øÓ°À Áõºk ¼÷¯õÚõºk 
•øÓ¯õÚx Ai¨£øh°À J¸  

(A) Field diverter method  

 ¥Àk øhÁºhº •øÓ 

(B) Armature resistance control method   
 Bº©a`º ªßuøh Pmk¨£õk •øÓ   

(C) Field control method  
 ¥Àk Pmk¨£õk •øÓ 

(D) Voltage control method 
 ªßÚÊzu Pmk¨£õk •øÓ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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124. –––––––––––––– reason for open circuit in armature  of DC motor. 
i] ÷©õmhõ›ß Bº©a`º ªß_ØÔÀ vÓ¢u _ØÖUS –––––––––––––– Põμn®. 

(A) Low voltage  

 SøÓ¢u ªßÚÊzu® 

(B) High voltage 
 AvP©õÚ ªßÚÊzu®   

(C) Over load   
 AvP©õÚ £Ð 

(D) Loose commutator segments  
 Põ•÷hmhº ö\Uö©siÀ uÍºÄ  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

125. Why are the DC motor preferred for traction applications? 
CÊøÁ (mμõUåß) £¯ß£õmiØPõÚ i] ÷©õmhõº Hß 
÷uº¢öukUP¨£kQÓx? 

(A) IaN ∝  (B) IaT ∝     

(C) 2
aIT ∝  (D) NT ∝  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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126. The Torque -Load characteristics  of series motor 
 D.C. ^›ì ÷©õmh›ß •ÖUS _ø© £s¦  

(A) It increase the torque at high loads  

 AvP _ø©PÎÀ hõºU AvP›UQÓx 

(B) It decrease the torque at high loads 
 AvP _ø©PÎÀ hõºU SøÓQÓx   

(C) It has no effect on torque-load characteristic  
 Cx _ø© ©ØÖ® hõºU G¢u ÂøÍøÁ²® HØ£kzuõx 

(D) It increases torque at low loads 
 Cx SøÓ¢u _ø©PÎÀ hõºU AvP›UQÓx   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

127. Why do D.C. shunt motor have constant speed? 
i ] åsm ÷©õmhõº Hß {ø»¯õÚ ÷ÁPzøuU öPõskÒÍx?  

(A) High starting torque   
 AvP ìhõºi[ hõºU 

(B) High armature current 
 AvP Bºö©a`º ªß÷Úõmh®   

(C) Because field current constant   
 {ø»¯õÚ ¥Àk PμsiÚõÀ 

(D) Motor uses series field winding 
 ÷©õmhõ›À ^›ì ¥Àk øÁ°si[ £¯ß£kzxÁuõÀ   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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128. –––––––––––––– requires high starting torque. 
–––––––––––––– AvP ìhõºi[ hõºU ÷uøÁ. 

(A) Lathe machine (B) Locomotive 

 ÷»z ö©æß  ÷»õP÷©õiÆ 

(C) Elevators (D) Blower 
 G¼÷Ámhºì  ¨÷Íõ¯º 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

129. The sum of the Hysterisis losses and Eddy current losses are  
îìh›êì CÇ¨¦PÒ ©ØÖ® GiPμsm CÇ¨¦PÎß TkuÀ BÚx 

(A) Mechanical losses (B) Frictional losses 

 C¯¢vμ CÇ¨¦PÒ  Eμõ´Ä CÇ¨¦PÒ 

(C) Windage losses (D) Core losses 
 Âs÷hä CÇ¨¦PÒ  ÷Põº CÇ¨¦PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

130. If the back emf is absent in DC motor then  
i] ÷©õmhõ›À Gvºªß C¯US Âø\ CÀø»ö¯ÛÀ 

(A) Motor will not run  

 ÷©õmhõº Khõx 

(B) Motor will burn 
 ÷©õmhõº G›¢x Âk®   

(C) Motor will run at a very low speed  
 ÷©õmhõº ªPU SøÓ¢u ÷ÁPzvÀ Kk® 

(D) Motor will run at a high speed  
 ÷©õmhõº ÷ÁP©õP Kk®  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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131. How do mechanical losses occur in DC machine? 
DC ÷©õmhõ›À C¯¢vμ CÇ¨¦ GÆÁõÖ {PÌQßÓÚ? 

(A) Due to resistance in armature winding 

 Bºö©a`º øÁ°si[ öμ]ìhßì Põμn©õP 

(B) Due to friction in bearing and brushes 
 ¤¯›[ ©ØÖ® ¤μèPÎß Eμõ´Ä Põμn©õP   

(C) Due to eddy current in core  
 ÷Põ›À EÒÍ Gi Pμsm Põμn©õP 

(D) Due to field copper loss 
 ¥Àk Põ¨£º CÇ¨¦ Põμn©õP   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

132. Why a flat compound generator used for lathe applications? 
(÷»z) Pøh\À ÷Áø»US Hß ¤Íõm Põ®ö£Ísm öáÚ÷μmhº Hß 
£¯ß£kzu¨£kQÓx? 

(A) To  provide constant voltage output  

 AÄm¦miÀ {ø»¯õÚ ÷ÁõÀ÷hä ÁÇ[P 

(B) To operates above rated speed 
 {ºn°UP¨£mh ÷ÁPzøu Âh AvP©õP   

(C) To reduce cost of electro plating  
 ªß•»õ® §_uÀ ö\»øÁ SøÓUP 

(D) To simplify the setup 
 Aø©¨ø£ GÎø©¨£kzu   

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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133. –––––––––– device is used for measuring insulation resistance? 
Cß_÷»åß öμ]ìhßì AÍÂh £¯ß£k® \õuÚ® Gx? 

(A) Earth tester (B) Tong tester 

 Gºz öhìhº  hõ[ öhìhº 

(C) Megger (D) Voltmeter 
 ö©UPº  ÷ÁõÀm «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

134. The E.m.f. generated in a D.C. generator  
D.C. öáÚ÷μmh›À E¸ÁõUP¨£k® E.m.f. (D.G®.G¨) 

(A) 
A
PZN ×

60
φ

 volts (B) 
60
ZNφ

volts 

(C) 
P
AZN ×

60
φ

volts (D) 
A
PZN ×

×φ60
volts 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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135. As per BIS 4718 -1975 the terminal marking for D.C. machines, 
Identify the name of winding. D1 and D2 
BIS 4718 -1975 £i D.C. C¯¢vμ[PÎß •øÚ SÔ±kPÒ, £hzvÀ EÒÍ 

øÁ°si[ Aøh¯õÍ® PõsP. D1 ©ØÖ® D2 

(A) Commutating winding  
 Põ•÷hi[ øÁ°si[  

(B) Series excitation winding 
 ^›ì GUø\÷håß øÁ°si[ 
(C) Shunt excitation winding  
 åßm GUø\÷håß øÁ°si[  

(D) Compensating winding 
 Põ®ö£ß÷\mi[ øÁ°si[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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136. Statement   : The commutator in a D.C. Machine converts AC.
generated in Armature into D.C. for the external
circuit. 

TØÖ    :  i.]. C¯¢vμzvÀ EÒÍ Põ•÷hmhº, Bºö©a`›À 

E¸ÁõUP¨£k® G.] ø¯ (AC) öÁÎ¨¦Ó _ØÖUS i.] 

¯õP (D.C) ©õØÖQÓx. 

Reason  : The commutator reverses the current direction in
armature winding every half turn. Ensuring a
unidirectional current in the external circuit. 

Põμn®    : Põ•÷hmhº JÆöÁõ¸ Aøμ v¸¨£zv¾®, Bºö©a`º 
øÁsi[ uØ÷£õøu¯ vø\ø¯ ©õØÖQÓx. Cx 
öÁÎ¨¦Ó _ØÖPÎÀ J¸ vø\ ªß÷Úõmhzøu EÖv 
ö\´QÓx. 

(A) Both the statement and reason are correct and reason 
correctly explains the statement. 

 TØÖ ©ØÖ® Põμn® Cμsk® \›¯õÚøÁ, ÷©¾® Põμn® TØøÓ 
\›¯õP ÂÍUSQÓx 

(B) Both the statement and reason are correct but the reason does 
not correctly explain the statement. 

 TØÖ ©ØÖ® Põμn® Cμsk® \›¯õÚøÁ, BÚõÀ Põμn® \›¯õP 
TØøÓ ÂÍUPÂÀø» 

(C) The statement is correct, but reason is incorrect 
 TØÖ \›¯õÚx, BÚõÀ Põμn® uÁÓõÚx 

(D) The statement is incorrect, but reason is correct 
 TØÖ uÁÓõÚx, BÚõÀ Põμn® \›¯õÚx 

(E) Answer not known 
  Âøh öu›¯ÂÀø» 
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137. Why a commutator required for D.C. motor? 
DC ÷©õmhõ¸US Põ•÷hmhº Hß ÷uøÁ¨£kQÓx? 

(A) to increase motor’s speed 
 ÷©õmhõ›ß ÷ÁPzøu AvP›UP 

(B) to reduce electrical loss 
 ªß CÇ¨¦PøÍ SøÓUP 

(C) to convert AC to DC power 
 AC ø¯ DC £Áº BP ©õØÓ 

(D) to ensure continuous rotation of motor 
 ÷©õmhõ›ß öuõhºa]¯õÚ _ÇØ]ø¯ EÖv ö\´¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

138. As per BIS the series field winding terminals must be marked as 
BIS &ß £i ^›ì ¥Àk øÁsi[ •øÚPøÍ SÔ¨¤k® ©õºUQ[ 

(A) B1 and B2 (B) E1 and E2
 

 B1 ©ØÖ® B2  E1 ©ØÖ® E2 

(C) D1 and D2 (D) F1 and F2 
 D1 ©ØÖ® D2  F1 ©ØÖ® F2 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

139. Maximum safe temperature of class ‘E’ Insulation is 
QÍõì ‘E’ ªßPõ¨¤ß £õxPõ¨£õÚ AvP£m\ öÁ¨£{ø» AÍÄ 

(A) 90°C (B) 120°C 

(C) 130°C (D) 180°C 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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140. —————— supply is given to the External Growler. 
—————— \¨øÍø¯ öÁÎ U÷μõÆ»ºUS öPõkUP ÷Ásk®. 

(A) DC (B) AC 

 (DC) i]  (AC) H] 

(C) Regulated DC (D) Pure DC 
 öμS÷»hm DC (i])  y¯ i] (¨³º i]) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

141. What is the name of material used for busbar? 
£ì£õº ö\´¯ G¢u ö£õ¸Ò £¯ß£kzu£kQÓx? 

(A) Brass (B) High speed steel 

 ¤zuøÍ  AvP÷ÁP GLS 

(C) Bronze (D) Aluminium 
 öÁsP»®  A¾ªÛ¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

142. Control rods used in nuclear reactors are made of 
Aq Eø»PÎÀ £¯ß£kzx® Pßm÷μõÀ μõm ——————BÀ 
E¸ÁõUP¨£mhx. 

(A) Zirconium (B) Boron 

 ]º÷PõÛ¯®  ÷£õμõß 

(C) Beryllium (D) Lead 
 ö£›¼¯®  ½k 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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143. Tidal power schemes could not be found economically justified
because of 
Aø» ªß {ø»¯[PøÍ ö£õ¸Íõuõμ Ÿv¯õP {¯õ¨£kzu •i¯ÂÀø» 
Hß? 

(A) high cost of civil engineering works  
 ]ÂÀ Cß]Û¯›[ ÷Áø»°ß ö\»Ä AvP® 

(B) non-availability of tidal energy in India 
 C¢v¯õÂÀ ^μõÚ Aø» BØÓÀ QøhUPõx 

(C) both (A) and (B) 
 (A) ©ØÖ® (B) CøÁ Cμsk® 

(D) low cost of civil engineering works 
 ]ÂÀ Cg]Û¯›[ ÷Áø»°ß ö\»Ä SøÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

144. For which of the following equipment current rating is not 
necessary? 
¤ßÁ¸® \õuÚ[PÎÀ GuØS uØ÷£õøu¯ ©v¨¥k ÷uøÁ°Àø»? 

(A) Circuit breakers 
 \ºU³m ¤÷μUPºPÒ 

(B) Isolators 
 uÛø©¨£kzvPÒ 

(C) Load break switch 
 _ø© Cøh÷ÁøÍ _Âma 

(D) Circuit breakers and load break switches 
 \ºU³m ¤÷μUPºPÒ ©ØÖ® _ø© ¤÷μU _Âm_PÒ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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145. The function of moderator in a nuclear reactor is 
Aq Eø»°À ©õh÷μmh›ß ö\¯À£õk GßÚ? 

(A) to absorb the excess neutrons 
 AvP¨£i¯õÚ {³mμõßPøÍ EÔg_ÁuØS 

(B) to increase the energy of the neutrons 
 {³mμõßPÎß BØÓø» AvP›US® 

(C) to slow down the neutrons 
 {³mμõßPÎß ÷ÁPzøu SøÓUP 

(D) to speed up the neutrons 
 {³mμõß ÷ÁPzøu AvP›UP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

146. Which of the following the connected by the service mains? 
¤ßÁ¸ÁÚÁØÔÀ Gx \ºÃì ö©°ßPÍõÀ CønUP¨£mkÒÍx? 

(A) Transformer and earth 
 ªß©õØÔ ©ØÖ® §ª 

(B) Distributor and relay system 
 Â{÷¯õPìuº ©ØÖ® ›÷» Aø©¨¦ 

(C) Distributor and consumer terminals 
 Â{÷¯õPìuº ©ØÖ® ~Pº÷Áõº öhºªÚÀPÒ 

(D) Distributor and transformer 
 Â{÷¯õPìuº ©ØÖ® ªß©õØÔ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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147. Turbo alternators runs at 
hº÷£õ ªß©õØÔPÎß ÷ÁP® 

(A) A variable speed around 2000 rpm 
 J¸ ©õÔ ÷ÁP® _©õº 2000 rpm 

(B) A constant speed at 1000 rpm 
 {ø»¯õÚ ÷ÁP® 1000 rpm 

(C) A constant speed at 3000 rpm 
 {ø»¯õÚ ÷ÁP® 3000 rpm 

(D) A variable speed above 1000 rpm 
 J¸ ©õÔ ÷ÁP® 1000 rpm US ÷©À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

148. In Hydroelastic power plants 
}ºªß EØ£zv {ø»¯[PÎß 

(A) Operating cost is low and Initial cost is high 
 C¯UP ö\»Ä SøÓÄ ©ØÖ® Bμ®£ ö\»Ä AvP® 

(B) Operating cost is high and Initial cost is low 
 C¯UP ö\»Ä AvP® ©ØÖ® Bμ®£ ö\»Ä SøÓÄ 

(C) Both operating and initial costs are high 
 C¯UP ©ØÖ® Bμ®£ ö\»Ä Cμsk® AvP® 

(D) Both operating and initial costs are low 
 C¯UP ©ØÖ® Bμ®£ ö\»Ä Cμsk® SøÓÄ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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149. The main sources of Production of Biogas is 
R÷Ç ÁÇ[P¨£mh ö£õ¸ÒPÎß Áõ°»õP £÷¯õ÷Pì u¯õ›UP¨£kQÓx 

(A) Wet cow dung (B) Human waste 

 Dμ©õÚ ©õmka \õÚ®  ©ÛuU PÈÄPÒ 

(C) Wet livestock waste (D) Anaerobic bacteria 
 Dμ©õÚ PõÀ|øh PÈÄPÒ  PõØÔÀ»õ £õUj›¯õ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

150. Why is Solar energy considered environmentally friendly? 
`›¯ BØÓÀ Hß EhØTÖ |m¦hß EÒÍx 

(A) it generates a fraction of the greenhouse gasses and pollution 
as fossil fuels and can have a minimal impact on the land  

 Cx ¦øu£iÁ G›ö£õ¸mPÍõP Q›ßíÄì Áõ²UPÒ ©ØÖ® 
©õ_£õmiß J¸ £Svø¯ E¸ÁõUSQÓx ©ØÖ® {»zvÀ SøÓ¢u£m\
uõUPzøu HØ£kzx® 

(B) because it uses fossil fuel to generate electricity 
 HöÚÛÀ, Cx ªß÷Úõmhzøu E¸ÁõUP ÷Ási¯ G›ö£õ¸Ò 

(C) because it create large amounts of solid waste 
 HöÚÛÀ Cx AvP AÍÄ vhUPÈÄPøÍ E¸ÁõUSQÓx 

(D) because it requires extensive land use power plants 
 HöÚÛÀ CuØS Â›ÁõÚ {»¨ £¯ß£õmk ªß {ø»¯[PÒ 

÷uøÁ¨£kQßÓÚ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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151. The function of Surge Tank is to 
\ºä ÷h[Qß ö\¯À£õk GßÚ? 

(A) Supply water at constant pressure 
 {ø»¯õÚ }º öÁÎ÷¯ØÓ® 

(B) Absorb the excess pressure rise in case of sudden valve closure
 vjöμÚ ÁõÀÄ ‰h¨£mhõÀ AvP£i¯õÚ AÊzu® E¯ºøÁ 

EÔg_® 

(C) Produce surge in the pipe line 
 SÇõ°À GÊa] EØ£zv¯õQÓx 

(D) None of the above 
 ÷©ØSÔ¨¤mh GxÄªÀø»  

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

152. Maximum Wind energy available is proportional to 
QøhUS® AvP£m\ PõØÓõø» ªß\õμ® RÌPsh ÂQuõa\õμ Ai¨£øh°À 
C¸US® 

(A) air density 
 PõØÔß Ahºzv 

(B) cube of the wind velocity 
 PõØÔß ÷ÁPzvß PÚ \xμ® 

(C) square of the rotor diameter 
 ÷μõmhõ›ß \xμ Âmh® 

(D) all of the above 
 ÷©ØTÔ¯ AøÚzx® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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153. How many Disc of Suspension Insulated insulators are to be
connected in series for a 66 kV working voltage? 
66 kV ÷Áø» ªßÚÊzuzvØS GzuøÚ öuõ[PÀ Cß_÷»mhºPÒ öuõhº 
Cøn¨¤À CønUP¨£h ÷Ásk®? 

(A) 2 (B) 3 

(C) 4 (D) 6 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

154. Which type of Fire extinguisher is suitable for electricals fires? 
ªß\õμzvÚõÀ HØ£k® w Â£zvØS GÆÁøP w Aøn¨£õß £¯ß£kzu 
÷Ásk®?  

(A) Water (B) Foam 

 }º  ~øμ (L÷£õ®) 

(C) CO2 (D) Dry Chemical 
 CO2  E»º Cμ\õ¯Ú® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

155. Which part convert potential energy into kinetic energy in tidal
power plant? 
øhhÀ (PhÀ Aø») ªß {ø»¯zvÀ {ø»¯õÚ BØÓø» C¯UP BØÓ»õP 
©õØÓ® ö\´²® £Sv Gx? 

(A) Sluices (B) Embankments 

 ©uSPÒ (_¾ø\ì)  }º uk¨¦ (PøμPÒ) 

(C) Turbines (D) Barrage 
 Âø\¯õÈPÒ (hºø£ßì)  \μ©õ› (÷£÷μä) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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156. If a distribution line and street lighting fixtures are installed. On
the same pole then their span should not exceed 
Kº ªß P®£zvÀ öu¸ ÂÍUSPÒ ö£õ¸zu¨£mi¸¢uõÀ J¸ P®£zvØS® 

©ØöÓõ¸ P®£zvØS® (span) CøhöÁÎ —————— AvP©õP°¸UPU 
Thõx. 

(A) 30 metre (B) 45 metre 

 30 «mhº  45 «mhº 

(C) 60 metre (D) 100 metre 
 60 «mhº  100 «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

157. Which is a part of over head Line? 
KÁº öím ø»ÛÀ £¯ß£kzx® £Sv  

(A) Lead sheath (B) Stay wire 

 ö»m ëz  ì÷h J¯º 

(C) Armouring (D) Cable trench 
 Bº©›[  ÷P¤Ò APÈ (÷P¤À mμßa) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



438 – Electrician 76

158. How is the safety of a transmission station ensured according to
IE Rule? 
IE Âv°ß £i iμõßìªåß {ø»¯zvß £õxPõ¨¦ GÆÁõÖ 
£õvUP¨£kQÓx? 

(A) by ensuring the Transmission station is easily accessible to 
unauthorized personnel 

 mμõßìªåß ì÷håøÚ A[RP›UP¨£hõu |£ºPÒ GÎuõP 
AqP»õ® 

(B) by placing clear warning signs and maintaining proper fencing 
around the station 

 öuÎÁõÚ Ga\›UøP £»øPPøÍ øÁ¨£uß ‰»•®, ì÷håøÚa 
_ØÔ \›¯õÚ ÷Á¼ø¯¨ £μõ©›¨£uß ‰»•® 

(C) by regularly testing the transformer for leakage of current 
 ªß©õØÔ°À ªßP]Ä EÒÍuõ GÚ AÆÁ¨÷£õx ÷\õuøÚ 

ö\´Áuß ‰»® 

(D) by minimizing the distance between the Transformer and 
Residential areas 

 ªß©õØÔUS® Si°¸¨¦ £SvPÐUS® Cøh÷¯ EÒÍ yμzøu 
SøÓ¨£uß ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

159. The highest possible transmission voltage in India is 
C¢v¯õÂÀ AÝ©vUP¨£mh AvP£m\ iμõßìªåß ªßÚÊzu® 

(A) 132 kV (B) 440 kV 

 132 Q÷»õ ÷ÁõÀm  440 Q÷»õ ÷ÁõÀm 

(C) 675 kV (D) 765 kV 
 675 Q÷»õ ÷ÁõÀm  765 Q÷»õ ÷ÁõÀm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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160. The purpose of cross arm in overhead line is 
KÁº öím ø»ÛÀ SÖUSa \mhzvß ö\¯À£õk 

(A) to hold the overhead line conductors 
 KÁºöím ø»ß PhzvPøÍ ¤izxUöPõÒÍ 

(B) to hold the insulators on which conductors are fastened 
 Phzv ö£õ¸zu¨£k® Cß_÷»mhºPøÍ ¤izxUöPõÒÍ 

(C) to give more strength to the pole 
 ªßP®£[PÐUS AvP Á¼ø©ø¯ öPõkUP 

(D) to protect the person from electric shock 
 ªß Avºa]°À C¸¢x ©ÛuºPøÍ £õxPõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

161. How much is the synchronous speed of a 3 phase induction motor for
a 4 pole, 50 Hz? 
50 ¤›SÁß]°À C¯US® 4 & ÷£õÀ, 3 & ÷£ì CßhUåß ÷©õmhõ›ß 
][PμøÚì ÷ÁP® GÆÁÍÄ? 

(A) 1400 RPM (B) 1500 RPM 

(C) 1000 RPM (D) 3000 RPM 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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162. Why the starter with a single-phase preventer not start? 
][QÒ ÷£ì ¤›Áßhº öPõsh ìhõºhº Hß ìhõºm BPÂÀø»? 

(A) the starter motor is mechanically jammed 
 ìhõºmhº ÷©õmhõº ö©UPõÛUP¼ áõ® 

(B) improper phase sequency 
 •øÓ¯ØÓ ÷£ì ^SÁß] 

(C) balanced line voltage 
 ^μõÚ ø»ß ÷ÁõÀ÷hä 

(D) the motor’s bearings are damaged 
 ÷©õmhõ¸øh¯ ¤¯›[ ÷\u©øh¢xÒÍx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

163. The monthly maintenance schedule for the AC Squirrel cage
induction motor is to 
H] ìS›À ÷Pä CßhUåß ÷©õmhõ›ß ©õuõ¢vμ £μõ©›¨¦ 
AmhÁøn¯õÚx 

(A) check air gaps 
 Hº ÷P¨&I ÷\õvzvhÄ® 

(B) clean and varnish the windings  
 øÁsi[ QÏß ö\´x ÁõºÜè ö\´uÀ 

(C) renew switch and fuse contacts 
 _Âma ©ØÖ® ¨³ì PõshõUmPøÍ ¦x¨¤UPÄ® 

(D) check the condition of the grease 
 QŸì–ß PsiåøÚ \›£õºUPÄ® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



   438 – Electrician 
  [Turn over 

79

164. The distance between the centre of two adjacent opposite poles is
called —————— in 3 phase induction motor winding. 
3 ÷£ì CßhUåß ÷©õmhõº øÁßi[QÀ Cμsk Akzukzu Gvº 
÷£õÀPÎß ø©¯zvØS Cøh÷¯ EÒÍ yμ® 

(A) Winding pitch (B) Pole pitch 

 øÁsi[ ¤a  ÷£õÀ ¤a 

(C) Pitch factor (D) Winding factor 
 ¤a ÷£Uhº  øÁsi[ ÷£Uhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

165. How can the speed of a 3 phase induction motor be controlled from
the Rotor side? 
÷μõmhõº ø\k¼¸¢x 3 ÷£ì CßhUåß ÷©õmhõ›ß ÷ÁPzøu GÆÁõÖ 
Pßm÷μõÀ ö\´¯ •i²®? 

(A) By changing the applied voltage 
 A¨øÍk ÷ÁõÀ÷hä&I ©õØÖÁuß ‰»® 

(B) By changing applied frequency 
 A¨øÍk ¤›SÁß]ø¯ ©õØÖÁuß ‰»® 

(C) Cascade operation 
 ÷Pì÷Pm B£÷μåß 

(D) By changing the number of stator poles 
 ì÷hmhõº ÷£õÀPÎß GsoUøPø¯ ©õØÖÁuß ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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166. Why is the stator of a Three-phase squirrel cage induction motor 
constructed with laminated Iron cores? 
3 ÷£ì ìS›À ÷Pì CßhUåß ÷©õmhõ›ß ì÷hmhõº BÚx ÷»ª÷Úm 
A¯ºß ÷PõºPÍõÀ Aø©UP¨£mi¸¨£x Hß? 

(A) to reduce the weight of the motor 
 ÷©õmhõ›ß Gøhø¯ SøÓ¨£uØS 

(B) to provide additional mechanical strength 
 Tku»õP C¯¢vμ Á¼ø©ø¯ ÁÇ[P 

(C) to reduce Eddy current loss 
 Gi Pμsm CÇ¨ø£ SøÓ¨£uØPõP 

(D) to reduce the cost of the motor 
 ÷©õmhõ›ß ö\»øÁ SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

167. Why are contactors often equipped with an Auxiliary contact? 
PõshUhºPÎÀ ö£¸®£õ¾® BUêø»› PõshUm Hß 
ö£õ¸zu¨£mkÒÍx? 

(A) to adjust the voltage 
 ÷ÁõÀ÷hä&ø¯ \› ö\´¯ 

(B) to regulate the coil’s magnetic field 
 Põ°¼ß ÷©UÚmiU ¥Àøh JÊ[S£kzu 

(C) to provide additional switching functions 
 TkuÀ _Âma][ ö\¯À£õkPÒ ÁÇ[SÁuØPõP 

(D) to measure the current flow 
 Pμsm ¨÷ÍõøÁ AÍÃk ö\´¯ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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168. How does an Auto-Transformer starter achieve a soft start to the
motor? 
J¸ Bm÷hõ iμõßì£õº©º ìhõºhº G¨£i ÷©õmhõ¸US ö©ßø©¯õÚ 
öuõhUPzøu AÎUQÓx? 

(A) by using a variable frequency drive 
 ÷Á›¯¤Ò ¤›SÁß] møμÆø¯ £¯ß£kzv 

(B) by directly applying full voltage to the motor 
 ÷©õmhõ¸US ÷|μi¯õP •Ê ªßÚÊzuzøu²® ö\¾zv 

(C) by varying the motor’s frequency 
 ÷©õmhõº ¤›SÁß]ø¯ ©õØÖÁuß ‰»® 

(D) by reducing the supply voltage to the Motor initially 
 Bμ®£zvÀ ÷©õmhõ¸US \¨øÍ ÷ÁõÀ÷hä&I SøÓ¨£uß ‰»® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

169. If an AC ceiling fan, capacitor is replaced by a choke, the fan will 
J¸ H] ªßÂ]Ô°À öP£õ]mh¸US £v»õP ÷\õU CønzuõÀ 
ªßÂ]Ô¯õÚx 

(A) be damaged 
 £Êuøh²® 

(B) not run 
 Khõx 

(C) move with greater speed 
 ÷ÁP©õP Kk® 

(D) move with low speed 
 ö©xÁõP Kk® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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170. Most of the single phase motors are —————— pole machine. 
ö£¸®£õ»õÚ ][QÒ ÷£ì CßhUåß ÷©õmhõºPÒ —————— x¸Á® 
öPõsh C¯¢vμ[PÍõS®. 

(A) 2 (B) 4 

(C) 6 (D) 8 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

171. A capacitor start, capacitor run single phase induction motor is
basically a 
öP£õ]mhº ìhõºm, öP£õ]mhº μß ÁøP ][QÒ ÷£ì ÷©õmhõμõÚx 
Ai¨£øh°À —————— ÷©õmhõμõS®. 

(A) AC series motor (B) DC series motor 

 H] ^Ÿì ÷©õmhõº  i] ^Ÿì ÷©õmhõº 

(C) 2 phase induction motor (D) 3 phase induction motor 
 Cμsk ÷£ì ÷©õmhõº  3 ÷£ì ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

172. —————— single phase motor which has highest starting Torque.
—————— ÁøP ][QÒ ÷£ì ÷©õmhõμõÚx AvP xÁUP 
_ÇØÖzvÓøÚ ö£ØÖÒÍx.  

(A) Shaded pole motor (B) Universal motor 

 ÷\hm ÷£õÀ ÷©õmhõº  ³ÛÁº\À ÷©õmhõº 

(C) Reluctance motor (D) Capacitor start motor 
 ›»Uhßì ÷©õmhõº  öP£õ]mhº ìhõºm ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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173. A ceiling fan of 48" sweep will have motor rating of 
48" A[S»® _Â¨ öPõsh J¸ ^¼ì ÷£ß —————— ÷©õmhõº 
AÍøÁ öPõsi¸US®. 

(A) 25 to 50 watts (B) 60 to 75 watts 

 25 •uÀ 50 Áõmì Áøμ  60 •uÀ 75 Áõmì Áøμ 

(C) 100 to 150 watts (D) 200 to 250 watts 
 100 •uÀ 150 Áõmì Áøμ  200 •uÀ 250 Áõmì Áøμ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

174. The purpose of the shaded coils in a shaded pole motor is to 
÷\hm ÷£õÀ ÷©õmhõ›À EÒÍ ÷\i[ Põ°À —————— ÷|õUPzvØPõP 
EÒÍx. 

(A) reduce friction loss 
 Eμõ´Ä CÇ¨ø£U SøÓUP 

(B) reduce Armature reaction 
 Bº©a`º ›¯õUåøÚ SøÓUP 

(C) reduce rough commutation 
 μL¨ Põ•÷h\øÚU SøÓUP 

(D) produce rotating magnetic field 
 _Ç¾® Põ¢u¨¦»zøu E¸ÁõUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 



438 – Electrician 84

175. Normally the ratio of width of brush to width of commutator 
segments 
¤μêß AP»zvØS®, Põ•÷hmhº ö\Uö©ßm AP»zvØS® EÒÍ ÂQu® 
C¯À£õÚ {ø»°À  

(A) 1:1 (B) 1:2 

(C) 2:1 (D) 4:1 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

176. —————— motor is normally free from much mechanical and
magnetic vibration. 
—————— ÷©õmhõº BÚx AvP C¯¢vμÂ¯À ©ØÖ® Põ¢u 
AvºÄPÎÀ C¸¢x Âk£kQÓx. 

(A) Split phase motor (B) Shaded pole motor 

 ê¤¼m ÷£ì ÷©õmhõº  ÷\hm ÷£õÀ ÷©õmhõº 

(C) Universal motor (D) hysterisis motor 
 ³ÛÁºåÀ ÷©õmhõº  îìh›\ì ÷©õmhõº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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177. During plugging of an Induction motor 
J¸ CßhUåß ÷©õmhõ›À ¤ÍUQ[ HØ£kÁx 

(A) any two phase is interchanged 
 HuõÁx Cμsk ÷£ìPÒ ©õØÓ¨£kQÓx 

(B) power is fed back to mains 
 £Áº «sk® ö©°ßìUS  ÁÇ[P¨£mi¸zuÀ 

(C) one phase is open circuited 
 J¸ ÷£ì vÓ¢u _ØÓõQ C¸zuÀ 

(D) a DC source is connected to stator 
 ì÷hmhõº i.]. \¨øÍ²hß CønUP¨£mk C¸zuÀ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

178. A Direct online starter is necessary for a single phase motor of more
than one H.P. for 
J¸ H.P.US AvP©õÚ AÍÄ öPõsh ][QÒ ÷£ì ÷©õmhõºPÐUS 
øhμUm Bßø»ß ìhõºhº £¯ß£kzxÁuß ÷|õUP® 

(A) starting the motor only 
 ÷©õmhõøμ xÁUP® ö\´ÁuØS ©mk® 

(B) stopping the motor only 
 ÷©õmhõøμ {ÖzxÁuØS ©mk® 

(C) providing overload protection to the motor 
 KÁº÷»õiÀ C¸¢x ÷©õmhõøμ £õxPõUP 

(D) reduce the losses of the motor 
 ÷©õmhõ›ß CÇ¨¦PøÍU SøÓUP 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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179. How the starting and running windings are wound on the stator? 
ì÷hmhõ›À ìhõºmi[ ©ØÖ® μßÛ[ øÁsi[SPÒ GÆÁõÖ 
_ØÓ¨£kQÓx?  

(A) at 45 electrical degree at each other 
 JßÖUöPõßÖ 45 G»Um›PÀ iQ›°À 

(B) at 90 electrical degree at each other 
 JßÖUöPõßÖ 90 G»Um›PÀ iQ›°À 

(C) at 180 electrical degree at each other 
 JßÖUöPõßÖ 180 G»Um›PÀ iQ›°À 

(D) at 360 electrical degree at each other 
 JßÖUöPõßÖ 360 G»Um›PÀ iQ›°À 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

180. Rotating Magnetic field is also called 
_ÇÀ Põ¢u ¥Àk C¨£i²® AøÇUP¨£k® 

(A) Stator speed (B) Synchronous speed 

 ì÷hmhõº ÷ÁP®  ][PºøÚì ÷ÁP® 

(C) Startor speed (D) Zero speed 
 ìhõºhº ÷ÁP®  §ä¯ ÷ÁP® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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181. The error caused by the effect of vibrations is 
AvºÂß ÂøÍÁõÀ HØ£k® ¤øÇ 

(A) Device error (B) Switching error 

 P¸Â ¤øÇ  _Âm][ ¤øÇ 

(C) Influence error (D) Human error 
 Cß¦Ð¯ßì ¤øÇ  ©Ûu ¤øÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

182. How does the value of a Multiplier Resistor affect the measurement
range of voltmeter? 
©Ài¤øÍ¯º öμ]ìh›ß ©v¨£õÚx ÷ÁõÀm«mh›ß AÍÃmk Áμ®ø£ 
GÆÁõÖ £õvUQÓx? 

(A) A lower resistance value increases the measurement range 
 SøÓ¢u öμ]ìhßì ©v¨¦ AÍÃmk Áμ®ø£ AvP›UQÓx 

(B) The resistor value has no effect on the measurement range 
 öμ]ìhº ©v¨¦ AÍÃmk Áμ®¤À G¢u ÂøÍøÁ²® HØ£kzuõx 

(C) A higher resistance value increases the measurement range 
 AvP öμ]ìhßì ©v¨¦ AÍÃmk Áμ®ø£ AvP›UQÓx 

(D) The resistor value decreases the measurement range 
 öμ]ìhº ©v¨¦ AÍÃmk Áμ®ø£ SøÓUQÓx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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183. Dynamometer type instrument works on the principle of same as
like  
øhÚ÷©õ«mhº ÁøP Cßìm¸ö©ßm —————— ÷£õ»÷Á 
ö\¯À£kQÓx. 

(A) AC motor (B) DC motor 

 H] ÷©õmhõº  i] ÷©õmhõº 

(C) AC Generator (D) DC Generator 
 H] öáÚ÷μmhº  i] öáÚ÷μmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

184. —————— is used to get on the spot true power reading. 
m¹ £Áº&I Eh÷Ú AÍÃk ö\´¯ £¯ß£kÁx 

(A) Energy meter (B) Ammeter 

 GÚºâ «mhº  A®«mhº 

(C) Kilo Watt hour meter (D) Watt meter 
 Q÷»õ Áõm íÁº «mhº   Áõm «mhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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185. Creep error may occurs in induction type energy meter due to  
CßhUåß ÁøP GÚºâ «mh›À —————— PõμnzvÚõÀ UŸ¨ ¤øÇ 
HØ£h»õ®. 

(A) over voltage across voltage coil 
 KÁº ÷ÁõÀ÷hä AUμõì ÷ÁõÀ÷hä Põ°À 

(B) incorrect position of brake magnet 
 ¤÷μU ÷©UÚmiß uÁÓõÚ ö£õ]\ß 

(C) incorrect adjustment of position of shading band 
 ÷åi[ ÷£siß ö£õ]\Ûß uÁÓõÚ Am\ìö©ßm 

(D) increase in temperature 
 öÁ¨£{ø» AvP›¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

186. The primary purpose of an extended Voltmeter is 
GUìöhßhk (}miUP¨£mh) ÷ÁõÀm«mh›ß •ußø© ÷|õUP©õÚx 

(A) to measure current in a circuit 
 \ºU³miß ªß÷Úõmhzøu AÍÂh 

(B) to measure resistance of components 
 Põ®÷£õöÚmPÎß ªßuøhø¯ AÍÂh 

(C) to generate electrical power 
 ªß\õμ® EØ£zv ö\´¯ 

(D) to measure very high voltages 
 ªP AvP ªßÚÊzuzøu AÍÂh 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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187. In an AMR system —————— type of data is typically collected. 
J¸ H.G®.Bº. ]ìhzvÀ —————— ÁøP uμÄ ö£õxÁõP 
÷\P›UP¨£kQÓx. 

(A) energy consumption and usage patterns 
 GÚºâ {PÌÄ ©ØÖ® £¯ß£õmk •øÓPÒ 

(B) temperature and humidity 
 öÁ¨£{ø» ©ØÖ® Dμ¨£u® 

(C) water quality and pH levels 
 }›ß uμ® ©ØÖ® ¤.Ga. AÍÄ 

(D) light intensity and soil moisture 
 JÎ Cßhß]mi ©ØÖ® ©soß Dμ¨£u® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

188. —————— force is required to move the pointer from zero position
in an indicating instrument. 
Cßi÷Pmi[ Cßìm¸ö©ßm&À }iÀ BÚx §ä¯ {ø»°À C¸¢x |Pμ 
—————— Âø\ ÷uøÁ¨£kQÓx. 

(A) Deflecting force (B) Controlling force 

 Â»US Âø\ (i¨»Umi[ Âø\)  Pmk¨£õmk Âø\ 

(C) Air friction damping (D) Eddy current damping 
 Hº ¤›U\ß ÷h®¤[  Gi Pμsm ÷h®¤[ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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189. The principle make the instrument transformer works 
—————— uzxÁzvß Ai¨£øh°À Cßìm¸ö©ßm iμõßì£õº©º 
÷Áø» ö\´QÓx. 

(A) Self induction (B) Lenz’s law 

 ö\À¨ CßhU\ß (_¯ yshÀ)  ö»ßì Âv 

(C) Mutual induction (D) Fleming’s right handrule 
 ª³m_ÁÀ CßhU\ß  ¤Íª[ì Á»UøP Âv 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

190. The internal resistance of an ammeter is 
J¸ A®«mh›ß EÒ ªßuøh 

(A) zero (B) very low 

 ã÷μõ  ªP SøÓÄ 

(C) very high (D) infinite 
 ªP AvP®  •iÂÀ»õux 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

191. Luminous efficiency of an fluorescent tube is 
¦÷Íõμ\ßm ÷»®¨&ß ¿ªÚì ÂøÚvÓß 

(A) 5 - 10 Lumen/watt (B) 15 - 20 Lumen/watt 

(C) 30 - 40 Lumen/watt (D) 60 - 65 Lumen/watt 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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192. The power factor of an incandescent lamp is 
J¸ Cß÷Pßh\ßm ÷»®¨&ß £Áº ÷£Uhº —————— BS®. 

(A) unity (B) around 0.5 lagging 

 ³Ûmi  _©õº 0.5 ÷»Q[ 

(C) around 0.5 leading (D) zero 
 _©õº 0.5 ½i[  §ä¯® 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

193. In sodium vapour lamp fitting, —————— performs the Ignition 
Voltage initially and Act as a choke for limiting the current. 
÷\õi¯® BÂ ÂÍUS ¥mi[QÀ, —————— BÚx CUÛåÝUS 
ªßÚÊzuzøu •u¼À öPõkUQÓx. ¤ß¦ ÂÍUS G›¯ Bμ®¤zuÄhß 
AuØS ÷uøÁ¯õÚ AÍÄ ªß÷Úõmhzøu öPõkUS®. 

(A) Leak Transformer (B) Capacitor 

 P]Ä iμõßìL£õº©º  öP¨£õ]hº 

(C) Thermal starter (D) Glow starter 
 öuº©À ìhõmhº  U÷Íõ ìhõmhº 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

194. The Unit of Luminous efficiency is 
¿ªÚì ÂøÚvÓÛß A»S 

(A) Lumen ∗ Watt (B) Watt / Lumen 

 ¿©ß ∗ Áõm  Áõm / ¿©ß 

(C) Lumen / Watt (D) Lumen + Watt 
 ¿©ß / Áõm  ¿©ß + Áõm 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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195. Why do LED bulbs achieve “Cool” in operation? 
GÀ.C.i. (L.E.D.) £À¦PÒ Hß ö\¯À£õmiÀ SÎºa]¯õP C¸UQßÓÚ? 

(A) it has a ignitor 
 AvÀ J¸ £ØÓøÁ¨¦ (CUÛmhμõß) EÒÍx 

(B) it has a gas discharge 
 AvÀ Áõ² öÁÎ÷¯ØÓzøu öPõskÒÍx 

(C) because it has no filament 
 AvÀ CøÇPÒ (¤»ö©ßm) CÀø» 

(D) it is kept in glass 
 Cx Psnõi°À øÁUP£mkÒÍx 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

196. The Colour emitted by a Halogen lamp is 
íõ÷»õáß ÂÍUS —————— {ÓzvÀ JÎø¯ u¸®. 

(A) blue (B) green 

 }»®  £aø\ 

(C) white (D) red 
 öÁÒøÍ  ]Á¨¦ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

197. Sodium vapour lamp gives —————— colour light. 
÷\õi¯® BÂ ÂÍUS —————— {ÓzvÀ JÎUPvøμ öÁÎ÷¯ØÖ®. 

(A) white (B) yellow 

 öÁÒøÍ  ©g\Ò 

(C) blue (D) green 
 }Í®  £aø\ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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198. The amount of light emitted in a given direction by a source is 
J¸ ‰»zv¼¸¢x (÷\õºì) SÔ¨¤mh vø\°À öÁÎ÷¯ Á¸® JÎø¯ 

(A) Frequency (B) Candle power 

 ¤›SÁß]  ÷PßiÀ £Áº 

(C) LUX (D) Wavelength 
 »Uì  ÷ÁÆö»ßz 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

199. Luminous flux reaching it perpendicular per unit areas is called 
J¸ öÁÎ£μ¨¤ß, J¸ A»S £μ¨¤ØS ö\[SzuõP JÎ ö\ßÓøhÁøu —
————— BS®. 

(A) Candela (B) Illuminance 

 ÷Pßi»õ  JÎ Aø©¨¦ (C¾ªÚì) 

(C) Lumen (D) Flux 
 ¿©ß  ¦»® (¤ÍUì) 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 

200. —————— lamp is the higher light output. 
—————— ÂÍUS £¯ß£kzxÁuß ‰»® AvP©õÚ öÁÎa\® 
PøhUQÓx. 

(A) coiled coil filament (B) single coil filament 

 Põ°Àk Põ°À CøÇ  ][PÒ Põ°À CøÇ 

(C) vacuum  (D) tungsten filament lamp 
 öÁØÔh  h[ìhß CøÇ 

(E) Answer not known 
 Âøh öu›¯ÂÀø» 
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